Switch

installation guide

June 2019




for more information, contact Installation Service
toll free 1 1.800.675.4092

Mon - Fri 1 8:30 am —5:00 pm EST
www.tayco.com



Table of Contents

General Instructions

Table Of CONLENTS ....vviiieeeeeceeee et e e
Installation Checklist ...
Care and MaintENANCE .....ceevie it e e e erae e e e e e e e
Application GUIAEIINES ... e e ree e e e e e e

Panel Connections, Components, Fillers and Hardware

2-Way 90° Panel Connection - TYPE A....c..eeeiiiiieee et eeectrree e eerree e
2-Way 90° Panel Connection - Type A (2 glazed panels) .....ccccccoveeeeceeeeccnnnennn.

2-Way 90° Panel Connection - Type A (standard & glazed panels)

2-Way 90° Panel Connection - TYPe B....oooeevvieeeei it
2-Way 180° Panel Connection - TYPE A ......uveeiiiiiieeceeeeeeee e e
2-Way 180° Panel Connection - TYPE B.....c..eeeeeiieeeiciiieeecieee e erveee e
3-Way Panel Connection - TYPE A......uuieiiciieeeciiie et eetve e saae e
3-Way Panel Connection - TYPE B........cooviiiiiiciiiee ettt eee e
3-Way Panel Connection - TYPE C...cccuveeeiciiiieeciiie et etree et e e
3-Way Panel Connection - TYPE D....ccueeeeiciiie ittt eeve e
4-Way Panel Connection - TYPE A...ccceiiiiecieie e e ceee e ereee et e e e vae e
4-Way Panel Connection - TYPE B...cooeieiieciee et
4-Way Panel Connection = TYPE C..ueeeeceeeeeiiiieeeiieeecttee e e esiee e e evee e e eaaaeee s
4-Way Panel Connection - TYPE D...eceecueeeeeciieeeeiie e
Elevated Panel Foot Cap Installation..........ccceeeeriiciiiiee e,
Machine Screws Removal from Glass or Acrylic Panel .........ccccceeeeeeciviieeeennnn.
Top Trim INStAllation .....coocceeeeeeeeeece e e e
End Trim INStallation .....oocveeeeiiiieie e
90° Filler INStallation ........coccuviei i e
“T” Filler INnStallation.......cceee it
Partial End Trim Filler Installation .........ccccceivvieiiiiiiin e,
Partial 90° Filler INstallation ..........ocueiiiiciiiiie e
Partial “T” Filler Installation .......ccoocieiiiiiiee e e
TOP TriM Mid CaP ..euuiiiiieee i ettt ee e e e e e e e e ecree e e e e e s e e taraee e e s esssnrraseeeessessnnns
Top Trim Mid Cap with Panel Mounted Glass/Acrylic Screen ..........ccccoveune.e.
Corner Connector INStallation...........cocvviriiiriiee e
Corner Connector Installation with Flipper Cabinet ........c.cccoceeeeiiiieeiiiinennns
Spline Connector INStallation ..........coocciiiiiiiie e
Raceway Cover INStallation .........coccceieiiiiiiiceeccce e e
Gallery Panel, Single Span, ENd, .....cocuveeeiiiieieciee ettt
Gallery Panel, Double Span, ENd, 1 Pi€CE.......cccceeeeriiiee et
Gallery Panel, Double Span, ENd, 2 PIECES.....cccuveiiicieeecciiee et
Gallery Panel, Single Span, Mid.......cccviiiiiiieeiiie e
Gallery Panel, Double Span, Mid, 1 PI€CE .....ccccviieeiciieeeciieee et
Gallery Panel, Double Span, Mid, 2 Pi€CES......cceeeeeccurieeieeeeeceiiee e e eeecvreeeee e
Gallery Panel, Single Span Step-down ENd ..........ccccovieeeieiicciiiieeeee e,
Gallery Panel, Double Span Step-down End, 1 PieCe.....ccccceeecuuriiveeeeeecccnrinnnnn.
Gallery Panel, Double Span Step-down End, 2 PieCes ........cccccuvvvveeeeeeccvrveeennnn.
Gallery Panel, Single Span Step-down Mid ............ccooveieiiicciiiieiee e,
Gallery Panel, Double Span Step-down Mid, 1 Piece......cccccccuvrveveeeeicccirvenennnn.
Gallery Panel, Double Span Step-down Mid, 2 PieCes .......ccccccvvveeeeerrcvrneeennnn.

June 2019

switch 3



Standard Panel Mounted Glass/ACIYIIC.......cuevieireeiieie ettt ere st ere e e eereeere e 87

Standard Panel Mounted Glass/Acrylic — Double Span .........cccccoveeveecieenieeieecreeeree e 89
Gallery Panel Mounted Glass/Acrylic installation..........cceveveeeriecieenieneecreecee e 91
Worksurfaces, Worksurface Supports and Connections 93]112
Transaction TOP INStAllatioN........eeei i re e ee e 93
Cantilever Support for Standard Panel ............ueevi oottt 95
Cantilever Support for Gallery Pan@l............uuueieeiiiceeeee ettt e e e e 96
Corner Bracket for Standard Panel ........oocueiiiiciiei ettt 97
REINTOICEMENT BT .eiiiiiiiiiiecee et e s s e e e s e e e e snbeee s sabeeeesnans 98
Split Surface Support for Standard Panel...........cooo o iiiiie e 99
Split Surface Support for Gallery Panel............uvvveiieei it 101
[ U T T o P PP 103
Credenza WOrksurface SUPPOIT .....cccuiiii ittt e e et e e e save e e e saae e e s aaae e e eaaeeaan 104
Ladder Gable Leg to Gallery PANEl .......cocuuiiiiiiiei ettt sae e e et 106
Ladder Gable Leg to Standard Panel..........coocuiveiiiiiiii et 107
Laminate Gable Leg to Gallery Panel .........ooouiieiiiiee i 108
Laminate Gable Leg to Standard Panel ..........ccueeeiiiiiiiciii e 109
Wrap Gable Leg to Gallery PAnel .......c..uiiiiii et 110
Wrap Gable Leg to Standard Panel .........cooouvieeeiiiieiiies et 111
Tower Storage to Worksurface ConNECtioN.........ccueeiiiiieiicciie e 112
Storage 113129
Pedestal to Gallery PAn@l — 24D .......ooouueiiiiee ettt ectrree e e e e etrrre e e e e e e arre e s 114
Pedestal to Gallery PAnel — 30D .....c.cooicuiiieiie ettt e e e e e setttree e e e e e et bae e e e e e e ennnreaee s 115
Pedestal to Standard Panel — 24D .......cooociiiiiiiieeceee ettt s 117
Underside Pedestal AttaChmMeNnt ........coiviiiiiiiiiiie e s 119
Metal Shelf INStallation .......iii it e s eae s ssbeee s snes 120
Cubby Storage INStallation ...........uuiiiiiii e e e e e e e e e renes 122
Shared Overhead Cabinet INStallation ........cc.eevviiiiiiiiiin e 123
Flipper Cabinet INStallation ..........oeeviii it e 124
Open/Hinged Cabinet INStallation............ooueeicuerieieeecee ettt e 127
Accessories 130]134
Tackboard/WHhItEDOArd .....c.eeuviiiiiiieeeeeeee et e e e e se et e e e e e s sesrabeesees 130
Accessory Rail INStallation .........ooceuiiiiiiccce e e 131
ACCESSONIES INSTAIATION ..eiuiiiiiieiiie e st e e s baesbaeebaeens 132
(01U = To ] (o =T OO O OO PRSPPI 133
Electrics & Communication 135|153
Electrical Components and SpecifiCations ..........cocuveeiiiiiiiiiiie e 135
[ ET R TI 6F | (ol U] - 4T o O PSSRSO 136
Desktop POWEI/USB MOTUIE .......ccueevierierieiecteere ettt eve et et e st etvesaeeeteeeaeesaveeaneenveenne 137
Power Module, Connector Harness & Communication Kit Installation ..........ccccevvevevveeeennnes 138
Electrical Box Holder INStallation ..........cceeiiioiiiiiiiee et 141
2-Way Power Pole INStallation ...........ooo i e e et e e 142
3-Way Power Pole InStallation ...........ooo it e e et e e e nees 144
4-Way Power Pole INStallation ...........uuiiiiiiice et 146
Gallery Panel, Power Pole INstallation ........c..oeeveiiiiiiiiieeee ettt 148
Standard Panel, Power Pole INstallation ... 151

June 2019

switch 4



Installation Checklist

Perform a site inspection prior to the installation date to check existing site conditions and identify constraints and
limitations that could possibly cause delays or problems during the actual installation.

SITE ACCESSIBILITY
1. Verify existing loading facilities and proximity of loading dock to staging area.
2. Verify if receiving area is accessible by trailer.
3. Verify access to service elevators.
4. Reserve service elevators in advance, if necessary.

SITE PREPARATION
1. Clear all obstacles that could interfere with the installation process.
2. When doing a reconfiguration, ensure that all furniture to be re-used are clear of computers, accessories,
books, papers and all personal effects.
3. Ensure that all live wires and data/communications wires are disconnected prior to installation.

FURNITURE PLANS
1. Labeled furniture plans for installation purposes are located in the hardware box. Ensure that drawings are
complete and handy before beginning installation.

STAGING
1. If damages are noticed upon opening the trailer, these must be noted by the receiver on the Bill of Lading.
Also note any imperfections or missing components discovered while unpacking the furniture. This
information is necessary when requesting for product replacement and shipping claims.
2. Unpack products in the general order of installation (refer to Installation Sequence).

WASTE MANAGEMENT
1. Establish a trash removal area separate from the product staging area.

June 2019 switch 5



Care & Maintenance

Fabrics

To remove dust particles, lightly vacuum the fabric surface. Spills and fluid should be immediately blotted. For minor
fabric stains and marks use water-based fabric solvent, applying light pressure, to lift the dirt and stain. Any use of
water and soaps may harm the fabric, causing water stains and damage to the fabric’s contents. Do not scrub the
fabric with bristle or vacuum brushes as the fabric may pill or tear and the appearance may be permanently affected.
Professional steam cleaning is recommended.

Laminates

Dust laminated surfaces for regular maintenance. Clean any dirt or stain with a damp cloth. Do not use an excessive
amount of water, abrasive cleaners, acids or alkalis and do not scratch or scrape surfaces. For persistent stains and
marks use a commercial cleaner, such as Cabinet Magic® or Countertop Magic®, both manufactured by Magic
American Corporation.

Glazed Screens and Cabinet Doors

Dust glazed screen and cabinet doors regularly to keep surfaces free of dust particles. Clean any dirt or stain with a
damp cloth. Dry the area using a dry paper cloth. The use of fiber cloths or rags is not recommended as loose
particles and debris remaining on the cloth may scratch or harm the acrylic surface. Do not use other chemical
cleaners or window cleaners as their chemical compositions may alter and/or permanently affect the surface
appearance.

Painted Metals

Tayco’s painted metal products are powder-paint-coated. To clean these products, use a damp cloth, using only a
small amount of lukewarm water if necessary. Dry with a clean a dry cloth. To avoid scratching and damaging the
painted surface, do not use hard bristled brushes or abrasive.

THE USE OF HARSH CLEANERS AND CHEMICALS MAY PERMANENTLY ALTER THE PRODUCT FINISH APPEARANCE AND
WILL VOID WARANTY.

June 2019 switch 6



Application Guidelines

Connection Types

2-Way 90° Connection

2-Way 180° Connection

Type A Connection Type B Connection Type A Connection Type B Connection
PF0O4224N PF05024N PFO4224N PFO4224N PFO5024N PF0O4224N
[ [i L == 1 [ [ 1
= )
3 3
IS S
kN =
z z
Top Cap |~Partial End Trim \ Partial End Trim
-Top Cap
- End Tri 0° Fill
End Trim~,__ — AT~ g et End Trim—~_ End Trim—~, |
nd Trim
nd Trim
il % =
\
End Tri é ST =g % S
3-Way Connection
Type A Connection Type B Connection Type C Connection Type D Connection
PF04224N PF04224N PFO5024N PFO5024N PFO4224N PFO4224N PFO5024N PF04224N
L 1 L X 1 L 1 L 1
P P = P
P 2 2 3
S S 3 3
S S 2 S
z z z z
Partial "T" Fille Top Cap [Topcap
7 artial End Trim
/ —TopCap =/
ial 90° Fill
EndTrim—\ 1 ‘ / End Tri J -
End Tr\m—\ ny nm—\l
End Trim
End Tri
/—End Trim
nd Trim \—EndTrim
ﬁ %
2 S ./
= End Tri End ek =2 End Tri 22
Continued on the next page >>
June 2019 switch 7



Application Guidelines

Connection Types

4-Way Connection

nd Trim

PF04224N

Type D Connection

NFZ0504d

PF04224N

artial 90° Filler

nd Trim

Type A Connection Type B Connection Type C Connection
4 =z =
g kS 3
a & a
2 g 2
= T Z
PF04224N PFO4224N PF05024N PF05024N PFO5024N PF04224N
[ g ] [ g ] [ =
Tap C

o

& & £

2 2 g

z z =

Top Ca| Top Cap
Partial "T" Filles [
nd Trim
nd Trim
End Tri
m\ End Trim—"|
nd Trim L—End Trim
—‘S‘L"‘-m , =] =) o
End Tri EnaTil

End Tri

End Trim—""

W

NZ0504d

Partial Straight Filler

June 2019

switch 8



Application Guidelines

Types of Surfaces

no grommet

with grommet

wireplay

60/24

60/24

60/23

June 2019

switch 9



2-Way 90° Panel Connection — Type A (2 standard panels)

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Position the panels to create a 90-
degree angle and level them
accordingly.

2. Securely fasten bottom corner
bracket into panel legs with four
M6 X 16MM Flat Machine Screws,
(Figure 1).

3. Position 90-degree top connector
with cap on top corner of the
panel which is to be connected,
(Figure 2).

Without Power Pole:

Use 90-degree top connector with
cap.

With Power Pole:

Use 2-way power pole bracket,
(See 2-Way Power Pole
Installation).

4. Drive four #8 X 1-1/4” Flat Head
Screws through the holes in 90-
degree top connector with cap
into the panels.

5. Position the 90-degree filler
connector at desired location,
(Figure 3).

6. Securely fasten 90-degree filler
connector to panels with four #8 X
1-1/2" Washer Head Screws.

7. Follow Steps 5 and 6 above to
install the remaining 90-degree
filler connectors.

M6 X 16MM

90° Filler
Conr)ector

Flat Machine Screw-_g=

90° Top
w/ Cap

#3 X 1-1/4"
Flat Head Screwr-n.,,_,_,i

L =

Bottom Corner
Bracket

= 'ﬂ"

7"~ Figure 1

Connector

|
|

. = T
#8 X 1-1/2" Washer e
Head Screw
Figure 3
Tools & Hardware Needed
8393-0044 8540-1205
7
A BY G,
N
Drill Phillips #2 & #3 Bit Torpedo Level Bottom Corner M6 X 16MM Flat
or Robertson # 2 Bracket Machine Screw (4X)
8393-0046, 8540- 8540-1008 8406-0033 8540-1185

1188 & 8683-0040

34 & 42 High Panels - 2X
50 & 66 High Panels - 3X

v

34 & 42 High Panels - 8X
50 & 66 High Panels - 12X

90° Top Connector
with Cap

#8 X 1-1/4” Flat
Head Screw (4X)

90° Filler Connector

#38 X 1-1/2" Washer
Head Screw

June 2019

switch 10



2-Way 90° Panel Connection — Type A (2 glazed panels)

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1.

Position the panels to create a 90-
degree angle and level them
accordingly.

Securely fasten bottom corner
bracket into panel legs with four
M6 X 16MM Flat Machine Screws,
(Figure 1).

Position 90-degree top connector
with cap on top corner of the
panel which is to be connected,
(Figure 2).

Without Power Pole:

Use 90-degree top connector with
cap.

With Power Pole:

Use 2-way power pole bracket,
(See 2-Way Power Pole
Installation).

Drive four #8-32 X 5/8”, Flat Head
Machine Screws through the holes
in 90-degree top connector with
cap into the panels.

Continued on the next page >>

|—| Figure 2

M6 X 16MM

#8-32X5/8"

Flat Machine Screw _ g

Bottom Corner
Bracket

=
Figure 1

90° Top Connector

W/ Cap

FH Machine Screw

| Figure 2

Tools & Hardware Needed

S

H.
0
17
-

8393-0044

EX

8540-1205

@

g

Drill Phillips #2 & #3 Bit Torpedo Level Bottom Corner M6 X 16MM Flat
or Robertson # 2 Bracket Machine Screw (4X)
8393-0046, 8540- 8540-1196

1188 & 8683-0040

Ny

90° Top Connector
with Cap

#8-32 X 5/8”, FH
Mach. Screw (4X)

June 2019

switch 11



2-Way 90° Panel Connection — Type A (2 glazed panels)

Caution: Do not use #8 X 1-1/4” Flat . :
Head Screws and #8 X 1-1/2” Washer Figure 3
Head Screws on Glass or Acrylic Panel. <

Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

#8-32 X5/16" ™
Pan Head Screw

5. Position the 90-degree filler
connector at desired location,
(Figure 3).

6. Securely fasten 90-degree filler
connector to panels with #8-32 X
5/16"Pan Head Screws (4X). Figure 4|

7. Position the 90-degree filler
connector at desired location,
(Figure 4).

8. Securely fasten 90-degree filler
connector to panels with four #8 X !
1-1/2" Washer Head Screws. R ‘Figure 4‘

9. Follow Steps 7 and 8 above to
install the remaining 90-degree

filler connectors. \
§

90° Filler Connector—
h

Figure 3

Fs

/ﬁQO" Filler Connector

e #8 X 1-1/2"
‘ ﬂ w /" Washer Head Screw
|| Wit
&
Figure 4
Tools & Hardware Needed
8406-0033 8540-1209 8540-1185
34 8 42 High Panels - 2X 34 8 42 High Panels - 8X
50 & 66 High Panels - 3X 50 & 66 High Panels — 12X
Drill Phillips #2 & #3 Bit 90° Filler Connector | #8-32 x 5/16" #8 X 1-1/2" Washer
or Robertson # 2 PH Screw (4X) Head Screw

June 2019 switch 12



2-Way 90° Panel Connection — Type A (standard & glazed panels)

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1.

Position the panels to create a 90-
degree angle and level them
accordingly.

Securely fasten bottom corner
bracket into panel legs with four
M6 X 16MM Flat Machine Screws,
(Figure 1).

Position 90-degree top connector
with cap on top corner of the
panel which is to be connected,
(Figure 2).

Without Power Pole:

Use 90-degree top connector with
cap.

With Power Pole:

Use 2-way power pole bracket,
(See 2-Way Power Pole
Installation).

Drive two #8-32 X 5/8”, Flat Head
Machine Screws through the holes
in 90-degree top connector with
cap into the glazed panel.

Drive two #8 X 1-1/4”, Flat Head
Screws through the holes in 90-
degree top connector with cap
into the standard panel.

Continued on the next page >>

Figure 2

Mé X 16MM

Flat Machine Screw-_ge T -

Bottom Corner
Bracket

90° Top Connector

W/ Cap

#8-32 X 5/8"
FH Machine Screw

#8 X 1-1/4"
Flat Head Screw

Figure 2

Tools & Hardware Needed

S

H.
1
17
-

8393-0044

EX

8540-1205

@

g

Drill Phillips #2 & #3 Bit Torpedo Level Bottom Corner M6 X 16MM Flat
or Robertson # 2 Bracket Machine Screw (4X)
8393-0046, 8540- 8540-1008 8540-1196
1188 & 8683-0040
.
W, 7
@ &

90° Top Connector
with Cap

#8 X 1-1/4” Flat
Head Screw (2X)

#8-32 X 5/8", FH
Mach. Screw (2X)

June 2019

switch 13



2-Way 90° Panel Connection — Type A (standard & glazed panels)

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

5.

Position the 90-degree filler
connector at desired location,
(Figure 3).

Drive two #8-32 X 5/16" Pan Head
Screws through the holes in 90-
degree filler into the glazed panel.
Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
90-degree filler into the standard
panel.

Position the 90-degree filler
connector at desired location,
(Figure 4).

Securely fasten 90-degree filler
connector to panels with four #8 X
1-1/2" Washer Head Screws.

10. Follow Steps 8 and 9 above to

install the remaining 90-degree
filler connectors.

Figure 4

90° Filler Connector-\

#8 X 1-1/2"
Washer I-_[_ead Screw

—

S
2

Figure 3

Figure 4

Tools & Hardware Needed

8406-0033 8540-1209 8540-1185
34 & 42 High Panels - 2X 34 & 42 High Panels - 8X
50 & 66 High Panels - 3X 50 & 66 High Panels - 12X
Drill Phillips #2 & #3 Bit 90° Filler Connector | #8-32 x 5/16" #8 X 1-1/2" Washer
or Robertson # 2 PH Screw (2X) Head Screw
June 2019 switch 14



2-Way 90° Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Securely fasten intermediate panel
connector to top connector
bracket with four #10-24 X 1/4”
Round Head Screws, (Figure 1).

2. Position the assembled connector
and bracket on top edge of shorter
panel, (Figure 2).

3. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in top
connector bracket into the frame.

Continued on the next page >>

#8 X 1-1/4"
Flat Head Screw

Top Connector
Bracket

Intermediate
-1 Panel Connector

#10-24 X 1/4"
" Round Head Screw

Figure 1

Figure 2

Tools & Hardware Needed

S

8393-0041

8393-0042

8540-1188

©

Drill Phillips #2 Bit or Top Corner Bracket | Intermediate Panel #10-24 X 1/4" RH
Robertson # 2 Connector Screw (4X)
8540-1008
W i
({!/{'ZJ’,:\ )
A
#38 X 1-1/4” Flat

Head Screw (2X)

June 2019

switch 15



2-Way 90° Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).
4. Position the panels to create 90-
degree angle and level them
accordingly.
Securely fasten bottom corner
bracket into the panel legs with
four M6 X 16MM Flat Machine
Screws, (Figure 3).
Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
intermediate panel connector into
the taller panel, (Figure 4).
Securely fasten top cap with #10-
24 X 1/4" Round Head Screw,
(Figure 5).
Position 90-degree filler connector
at desired location, (Figure 6).
Securely fasten 90-degree filler
connector to panels with four #8 X
1-1/2" Washer Head Screws.
10. Follow Steps 8 and 9 above to
install the remaining 90-degree
filler connectors.

5.

6.

7.

9.

Bracket

#10-24 X 1/4"

Bottom Connector

Me X 16MM
Flat Machine Screw

Figure 3

#E X 1-1/2"

Round Head Screw

Figure 5

o }_ ﬁ\%\‘
A

Washer Head Screw—g="

90° Filler
Connector

Intermediate
Panel Connector

#8X1-1/2"
Washer Head Screw

Figure 4

o
g

Figure 6

Tools & Hardware Needed

S

8540-1185

S

8393-0044

]

Drill Phillips #2 & #3 Bit Torpedo Level #8 X 1-1/2" Washer | Bottom Corner
or Robertson # 2 Head Screw (2X) Bracket
8540-1205 8406-0033 8540-1185 8683-0040 8540-1188
@
X ©
34 & 42 High Panels - 2X 34 & 42 High Panels - 8X
50 & 66 Hich Panels -3X | 50 & 66 High Panels - 12X
M6 X 16MM Flat 90° Filler Connector | #8 X 1-1/2" Washer | Top Cap #10-24 X 1/4", RH
Machine Screw (4X) Head Screw Screw

June 2019

switch 16



2-Way 180° Panel Connection — Type A

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic
Panel. Remove machine screws from
the glass or acrylic frame and apply
them to the connector bracket, (See
Machine Screws Removal from Glass
or Acrylic panel).

1. Engage the two panel legs with S
the self-leveling details and level _ Figure 1
them accordingly, (Figure 1). Self-leveling Details
2. Securely fasten the panel legs
with four M6 X 16 MM Flat
Machine Screws, (Figure 2).
3. Position the top connector
(countersink face up) at desired
location, (Figure 3).
4. Drive four #8 X 1-1/4" Flat Head
Screws through the holes in top
connector into the panels. M6 X 16MM
Flat Machine Screw
H8 X 1-1/4"
Flat Head Screw
Figure 2
Figure 3
Tools & Hardware Needed
8393-0040 8540-1008
(@7;23‘3
Drill Phillips #2 & #3 Bit Torpedo Level Top Connector #8 X 1-1/4”, Flat
or Robertson # 2 Head Screw (4X)
8540-1205
((((
W
M6 X 16MM Flat
Machine Screw (4X)
June 2019 switch 17



2-Way 180° Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Position intermediate panel
connector on top edge of shorter
panel, (Figure 1).

2. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in
intermediate panel connector into
the panel.

3. Engage the two panels with the
self-levelling details and level them
accordingly, (Figure 2).

Continued on the next page >>

#8 X 1-1/4"

E E/ Flat Head Screw

Intermediate
Panel Connector

Figure 1

Self-leveling Details

Figure 2

Tools & Hardware Needed

S

8393-0050 8540-1008

1‘7({[4%.-,_
q

Drill

Phillips #2 & #3 Bit
or Robertson # 2

Torpedo Level

Intermediate Panel
Connector

#38 X 1-1/4”, Flat
Head Screw (2X)

June 2019

switch 18



2-Way 180° Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

4. Securely fasten the panel legs with
four M6 X 16MM Flat Machine
Screws, (Figure 3).

5. Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
intermediate panel connector into
taller panel, (Figure 4).

Figure 3

Figure 4

M6 X 16MM
Flat Machine Screw

#8 X 1-1/2"
Washer Head Screw

Tools & Hardware Needed

S

8540-1185

Sy

8540-1205

.
%

Drill

Phillips #2 & #3 Bit
or Robertson # 2

#8 X 1-1/2" Washer
Head Screw (2X)

M6 X 16MM Flat
Machine Screw (4X)

June 2019

switch 19



3-Way Panel Connection — Type A

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket (See Machine
Screws Removal from Glass or Acrylic
panel).

1.

Position two panels to create 90-
degree angle and level them
accordingly.

Securely fasten bottom corner
bracket to the panel legs with four
M6 X 16MM Flat Machine Screws,
(Figure 1).

Position “T” top connector with
cap on top corner of panels,
(Figure 2).

Without Power Pole:

Use “T” top connector with cap.
With Power Pole:

Use 3-way power pole bracket,
(See 3-Way Power Pole
Installation).

Drive four #8 x 1-1/4" Flat Head
Screws through the holes in “T”
top connector with cap into the
panels.

Continued on the next page >>

Bottom Corner
Bracket

M6 X 16MM
Flat Machine Screw

Figure 1

,,@L:r/@

"T" Top Connector
w/ Cap

#H8 X 1-1/4"

Flat Head Screw\'

Figure 2

Tools & Hardware Needed

8393-0045,8683-
004088540-1188

8540-1008

Drill Phillips #2 & #3 Bit Torpedo Level “T" Top Connector | #3 X 1-1/4”, Flat
or Robertson # 2 with Cap Head Screw (4X)
8393-0044 8540-1205
(] | N
Bottom Corner M6 X 16MM Flat

Bracket

Machine Screw (4X)

June 2019

switch 20



3-Way Panel Connection — Type A

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

5. Position “T” filler connector at
desired location, (Figure 3).

6. Securely fasten “T” filler connector
to panels with two #8 X 1-1/2"
Washer Head Screws.

7. Follow Steps 5 and 6 above to
install the remaining “T” filler
connectors.

8. Securely fasten corner bracket of
third panel with two M6 X 16 MM,
Flat Machine Screws, (Figure 4).

9. Position third panel with bottom
corner bracket installed to create a
3-way panel connection and level
it accordingly.

10. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 5).

11. Drive two #8 X 1-1/4” Flat Head
Screws through the holes in “T”
top connector into the panel,
(Figure 6).

M6 X 16MM
Flat Machine Screw

#8 X 1-1/2"
Washer Head Screw

T, "T" Filler
= Connector

M6 X 16MM
J|Flat Machine Screw

Figure 3

Bottom Corner

Bracket

Figure 5

M6 X 16MM :
Flat Machine Screw

#8X1-1/4"

Bottom Corner
Bracket

Figure 4

Figure 6

Tools & Hardware Needed

S

8406-0034

34 & 42 High Panels - 2X
50 & 66 High Panels - 3X

8540-1185

"

34 & 42 High Panels — 4X
50 & 66 High Panels - 6X

Drill Phillips #2 & #3 Bit Torpedo Level “T" Filler Connector | #8 X 1-1/2" Washer
or Robertson # 2 Head Screw
8540-1008 8393-0044 8540-1205
W{ff‘(“ IR Q
@, o W
I &
#8 X 1-1/4”, Flat Bottom Corner M6 X 16MM Flat
Head Screw (2X) Bracket Machine Screw (4X)
June 2019 switch 21



3-Way Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1.

Position top connector bracket on
top edge corner of shorter panel,
(Figure 1).

Drive two #8 X 1-1/4" Flat Head
Screws through the holes in top
connector bracket into the frame.
Position tall panel and the shorter
panel to create 90-degree angle.
Level the panels accordingly.
Securely fasten the bottom corner
bracket to panel legs with four M6
X 16MM Flat Machine Screws,
(Figure 2).

Position the intermediate panel
connector at desired location,
(Figure 3).

Securely fasten intermediate panel
connector to taller panel with two
#8 x 1-1/2" Washer Head Screws.

Continued on the next page >>

S

s
-

‘ i

N e

g .

L

_—

e \ﬁm .‘I“\
/ |
M6 X 16MM g@ e"‘ &

el

~|L O]

E

Flat Machine Screw !
Bottom Corner

Bracket

Figure 2

#3 X 1-1/4"

Flat Head Screw
T Top Connector

Bracket

i

Figure 1

Intermediate
Panel Connector

#8X 1-1/2"
Washer Head Screw

Figure 3

Tools & Hardware Needed

S

8393-0041 8540-1008

Drill Phillips #2 & #3 Bit Torpedo Level Top Corner Bracket | #8 X 1-1/4”, Flat
or Robertson # 2 Head Screw (2X)
8393-0044 8540-1205 8540-1185
fr] | N S
Bottom Corner M6 X 16MM Flat Intermediate Panel #8 X 1-1/2" Washer

Bracket

Machine Screw (4X)

Connector

Head Screw (2X)

June 2019

switch 22



3-Way Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

8. Position the third panel to create a

3-way panel connection and level

it accordingly to determine the
location of the intermediate panel

connector, (Figure 4).

9. Securely fasten intermediate panel
connector into the third panel
with two #8 X 1-1/2" Washer Head
Screws, (Figure 5).

10. Securely fasten the bottom corner
bracket to the panel leg of the
third panel with two M6 X 16MM
Flat Machine Screws then set the
panel aside, (Figure 6).

11. Position the “T” filler connector at
desired location, (Figure 7).

12. Securely fasten the “T” filler
connector to the panel with two
#8 X 1-1/2" Washer Head Screws.

13. Follow Steps 11 and 12 above to
install the remaining “T” filler
connectors.

Continued on the next page >>

Intermediate ki
Panel Connector—|]

Figure 4
o
|l
& g
Bottom Corneriﬁ ke
Bracket BEDIE: e [
oo M
M6 X 16MM
Flat Machine Screw _

"T" Fille

r al
Connector—2 ﬁmﬁ" EF@//_Washer Head Screw

“T" Filler

Connector.,

Intermediate 5|
Panel Connector

\
Y

#8X 1-1/2" \
Washer Head Screw

Figure 5

"T" Filler
annector

#8 X 1-1/2"
T Woasher Head
Screw

T
<

#8 X 1-1/2"

#3 X 1-1/2"
Washer Head Screw

-

Figure 7

Tools & Hardware Needed

8540-1185

Sy

Drill Phillips #2 & #3 Bit Torpedo Level Intermediate Panel #8 X 1-1/2" Washer
or Robertson # 2 Connector Head Screw (2X)
8540-1205 8406-0034 8540-1185
((( -
i =
34 & 42 High Panels - 2X '
ossonanpanss- x| LS Pt
Bottom Corner M6 X 16MM Flat “T" Filler Connector | #8 X 1-1/2" Washer
Bracket Machine Screw (2X) Head Screw
June 2019 switch 23



3-Way Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

—— M6 X 16MM
Flat Machine Screw

14. Position the third panel with
intermediate panel connector and
corner bracket installed to create a
3-way panel connection. Level it
accordingly.

15. Secure the base with two M6 X
16MM Flat Machine Screws, H8 X 1-1/4"
(Figure 8). Flat Head Screw

16. Securely fasten straight top
connector with cap into the panels
with four #8 X 1-1/4" Flat Head
Screws, (Figure 9).

17.Securely fasten the connectors
with four #10-24 X 1/2" Round
Head Phillip Machine Screws,
(Figure 10).

M6 X 16MM
Flat Machine Screw

Straight Top Connector
with Cap

#10-24 X 1/2"
Round Head Screw

Figure 9 Figure 10

Tools & Hardware Needed

| N | By,

Drill 90° Angle Drill Phillips #2 & #3 Bit Robertson #2 Bit Torpedo Level
or Robertson # 2
8393-0047, 8540- 8540-1008 8540-1017 8540-1205
1188 & 8683-0040
T, Q
(Kt(@» %

Straight Top #3 X 1-1/4”, Flat #10-24 X 1/2", RH M6 X 16MM Flat
Connector Head Screw (4X) Screw (4X) Machine Screw (2X)

June 2019 switch 24



3-Way Panel Connection — Type C

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Securely fasten intermediate panel
connector to the straight top
connector with two #10-24 X 1/4”
Round Head Screws, (Figure 1).
Position the assembled connectors
on top edge of shorter panel,
(Figure 2).

Drive two #8 X 1-1/4” Flat Head
Screws through the holes in
straight top connector into the
panel.

L

Continued on the next page >>

Intermediate
Panel Connector

g

Straight "T" 180°

#8 X 1-1/4"
Flat Head Screw

|
é ; Top Connector Straight Top
/@ Connector
#10-24 X 1/4" Figure 1 Figure 2
Round Head Screw
Tools & Hardware Needed
8393-0047 8540-1188

S

8393-0042

©

Straight “T" 180°
Top Connector

Intermediate Panel
Connector

#10-24 X 1/4”, RH
Screw (2X)

Drill Phillips #2 & #3 Bit
or Robertson # 2
8540-1008
W i
({((?f.” £
A

#3 X 1-1/4”, Flat
Head Screw (2X)

June 2019

switch 25



3-Way Panel Connection — Type C

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

Position taller panel and the short
panel with connectors installed to
create 90-degree angle.

Level the panels accordingly.

Securely fasten bottom corner

bracket to panel legs with four M6

X 16 MM Flat Machine Screws,

(Figure 3).

Drive two #8 X 1-1/2" Washer

Head Screws through the holes in

intermediate panel connector into

the taller panel, (Figure 4).

Position and securely fasten top

cap into the connectors with #10-

24 X 1/4” Round Head Screw,

(Figure 5).

Position the “T” filler connector at

desired location, (Figure 6).

10. Securely fasten “T” filler connector
with two #8 X 1-1/2" Washer Head
Screws into the shorter panel.

11. Follow Steps 9 and 10 above to

install the remaining “T” filler

connectors.

9.

Continued on the next page >>

M6 X 16MM Il

Flat Machine Screw
| LY

Bottom Corner
Bracket

Figure 3

t——Top Cap

@\>}

I #10-24 x 1/4"
Round Head Screw

Figure 5

"T" Filler

Connecto

Intermediate
*{[ Panel Connector

#8 X 1-1/2"
Washer Head Screw

Figure 4

#8x1-1/2"
3 gWasher Head Screw

Figure 6

Tools & Hardware Needed

/

|

8540-1185

8683-0040

Drill Phillips #2 & #3 Bit

Torpedo Level

#8 X 1-1/2" Washer

Universal Top Cap

or Robertson # 2 Head Screw (2X)
8540-1188 8393-0044 8540-1205 8406-0034 8540-1185
7
C | E | %
s =
34 & 42 High Panels - 2X '
oasoHanparos -3 | 3112100 P
#10-24 X 1/4”,RH Bottom Corner M6 X 16MM Flat “T” Filler Connector | #8 X 1-1/2" Washer
Screw Bracket Machine Screw (4X) Head Screw
June 2019 switch 26



3-Way Panel Connection — Type C

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

12. Securely fasten bottom corner
bracket into the panel leg of the
other short panel with two M6 X
16MM Flat Machine Screws,
(Figure 7).

13. Position the other short panel to
create a 3-way panel connection
and level it accordingly.

14. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 8).

15. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in holes
in straight top connector into the
third panel, (Figure 9).

Bottom Corner

Bracket

M6 X 16MM
Flat Machine Screw

M6 X 16MM

Figure 7

M6 X 16MM
Flat Machine Screw

Figure 8

Flat Machine Screw

M6 X 16MM
Flat Machine Screw

#8 X 1-1/4"
Flat Head Screw

Figure 9

Tools & Hardware Needed

8393-0044 8540-1205
AT (@
Nl
Drill Phillips #2 & #3 Bit Torpedo Level Bottom Corner M6 X 16MM Flat
or Robertson # 2 Bracket Machine Screw (4X)
8540-1008
W 7
U,

#3 X 1-1/4”, Flat
Head Screw (2X)

June 2019

switch 27



3-Way Panel Connection — Type D

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Securely fasten top connector
bracket to the intermediate panel
connector with four #10-24 X 1/4”
Round Head Screws, (Figure 1).

2. Position the assembled connectors
on top edge of the shorter panel,
(Figure 2).

3. Drivetwo #8 X 1-1/4" Flat Head
Screws through the holes in top
connector bracket into the panel.

Continued on the next page >>

#8 X 1-1/4"
Flat Head Screw

Bracket

#10-24 X 1/4"
Round Head Screw

Figure 2

Tools & Hardware Needed

8393-0043 8393-0041 8540-1188

©

Drill Phillips #2 & #3 Bit

or Robertson # 2

Intermediate
Panel Connector

Top Corner Bracket | #10-24 X 1/4”, RH

Screw (4X)

#3 X 1-1/4”, Flat
Head Screw (2X)

June 2019

switch 28



3-Way Panel Connection — Type D

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

4. Position one of the tall panel and

the shorter panel with connectors

installed to create 90-degree
angle. Level them accordingly.

Securely fasten the bottom corner

bracket to panel legs with four M6

X 16 MM Flat Machine Screws,

(Figure 3).

Drive two #8 X 1-1/2" Washer

Head Screws through the holes in

intermediate panel connector into

the taller panel, (Figure 4).

Securely fasten the bottom corner

bracket to panel leg of the third

panel with two M6 X 16 MM Flat

Machine Screws, (Figure 5).

Set aside the third panel with

bottom corner bracket installed.

Position “T” filler connector at

desired location, (Figure 6).

10. Securely fasten “T” filler connector
with two #8 x 1-1/2" Washer Head
Screws.

11. Follow Steps 9 and 10 above to
install the remaining “T” filler
connectors.

Continued on the next page >>

Bottom Corner

Bracket

M6 X 16MM F
Flat Machine Screw

#8X 1-1/2"
Washer Head Screw

Figure 4

Bottom Corner
Bracket

M6 X 16MM
Flat Machine Screw

M6 X 16MM

Flat Machine Screw Figure 3

#8x1-1/2"
Washer Head Screw

L

"T" Filler —
Connector

Figure 6

- .z<-""'@§
M

6 X 16MM
Flat Machine Screw

Figure 5

Tools & Hardware Needed

S

8540-1185

|

8406-0034

34 & 42 High Panels - 2X
50 & 66 High Panels — 3X

Drill Phillips #2 & #3 Bit Torpedo Level #8 X 1-1/2" Washer | “T” Filler Connector
or Robertson # 2 Head Screw (2X)
8540-1185 8393-0044 8540-1205

"

34 & 42 High Panels - 4X
50 & 66 High Panels — 6X

AT (((((
i | N

#8 X 1-1/2" Washer
Head Screw

Bottom Corner
Bracket (2X)

M6 X 16MM Flat
Machine Screw (6X)

June 2019

switch 29



3-Way Panel Connection — Type D

Caution: Do not use #8 X 1-1/4” Flat

Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the

. LI R
connector bracket, (See Machine '“'_thu.g
Screws Removal from Glass or Acrylic
panel).

12. Position the third panel with
bottom corner bracket installed to
create a 3-way panel connection
and level it accordingly.

13. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 7).

14. Position the 90-degree top
connector with cap on top corner
of the panel which is to be
connected, (Figure 8).

15. Drive four #8 x 1-1/4" Flat Head
Screws through the holes in 90-
degree top connector into the
panels. Jihs

16. Drive two #8 x 1-1/2" Washer ﬁa)éhl;ﬁ;ad Screw
Head Screws through the holes in
intermediate panel connector into
the third panel, (Figure 9).

17. Position the 90-degree connector
at desired location, (Figure 10).

18. Securely fasten the 90-degree
connector with four #8 x 1-1/2"
Washer Head Screws.

19. Follow Steps 17 and 18 above to
install the remaining 90-degree

M6 X 16MM =—
Flat Machine Screw

90° Top Connector
with Cap

#8 X 1-1/4"

Flat Head Screw—i ] | i
! ‘
i |

|
g‘i&
|

Figure 7

Figure 8

90° annector

H8 x 1-1/2"
Washer Head Screw

Figure 9 Figure 10

connectors.
Tools & Hardware Needed
8393-0046, 8540- 8540-1008
1188 & 8683-0040
\
§
J
Drill Phillips #2 & #3 Bit Torpedo Level 90° Top Connector #8 X 1-1/4”, Flat
or Robertson # 2 with Top Cap Head Screw (4X)
8540-1205 8540-1185 8406-0033 8540-1185
@
W
08 &16 High Filler— 1X 08 &16 High Filler— 4X
24 & 32 Hiah Filler- 2X 24 & 32 High Filler- 8X
M6 X 16MM Flat #8 X 1-1/2" Washer | 90° Filler Connector | #8 X 1-1/2" Washer
Machine Screw (2X) | Head Screw (2X) Head Screw
June 2019 switch 30



4-Way Panel Connection — Type A

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Position two panels to create 90-
degree angle and level them
accordingly.

2. Securely fasten the bottom corner
bracket to panel legs with four M6
X 16 MM Flat Machine Screws,
(Figure 1).

3. Position 4-way top connector with
cap on top corner of panels,
(Figure 2).

Without Power Pole:

Use 4-way top connector with cap.
With Power Pole: Bottom Connector
Use 4-way power pole bracket, Bracket
(See 4-Way Power Pole
Installation).

4. Drive four #8 X 1-1/4” Flat Head
Screws through the holes in 4-way o..p\%
top connector into the panels. '

#8 X 1-1/4" |‘

Flat Head Scre\if”"*\i \ i
|
|

Continued on the next page >>

M6 X 16MM
Flat Machine Screw

Figure 1 Figure 2

Tools & Hardware Needed

8393-0048, 8683- 8540-1008
0040, & 8540-1188

E‘\i’//{:ﬁm_
. % ((I([(‘(if?,? §
% N {(6(4(’,{;‘]
J
Drill Phillips #2 & #3 Bit Torpedo Level 4-Way Top #8 X 1-1/4”, Flat
or Robertson # 2 Connector w/ Cap | Head Screw (4X)
8393-0044 8540-1205
(] | e
Bottom Corner M6 X 16MM Flat
Bracket Machine Screw (4X)

June 2019 switch 31



4-Way Panel Connection — Type A

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic
Panel. Remove machine screws M6 X 16MM
from the glass or acrylic frame and Flat Machine Screw

apply them to the connector bracket
(See Machine Screws Removal from \%a
|
ol
o] (D
Bottom Corner

Glass or Acrylic panel).
Bracket

M6 X 16 MM
Flat Machine Screw

5. Position and securely fasten
bottom corner bracket into
panel leg of the third panel with
two M6 X 16MM Flat Machine
Screws, (Figure 3).

. . . M6 X 16 MM

6. Position the third panel with Flat Machine Screw
bottom corner bracket installed Figure 3 Figure 4
to create a 3-way panel
connection and level it

accordingly.
7. Secure the base with two M6 X .
) #3X1-1/4
16MM Flat Machine Screws, Flat Head Screw Bottom Corner
(Figure 4). Bracket

8. Drive two #8 x 1-1/4" Flat Head
Screws the holes in 4-way top
connector into the panel,

(Figure 5). [~y

9. |Install two bottom corner e
brackets of the fourth panel by %\
securely fastening them to panel M6 X 16 MM

Flat Machine Screw

leg with M6 X 16MM Flat
Machine Screws, (Figure 6). Bottom Corner
Figure 5 Bracket Figure 6

Continued on the next page >>

Tools & Hardware Needed

8540-1008 8393-0044
E'Ai?,' P / ‘\
. % ((1((((?(;77;% A
Ny e i
J)
Drill Phillips #2 & #3 Bit Torpedo Level #8 X 1-1/4, Flat Bottom Corner
or Robertson # 2 Head Screw (2X) Bracket (3X)
8540-1205
@
W
M6 X 16MM Flat
Machine Screw (8X)

June 2019 switch 32



4-Way Panel Connection — Type A

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket (See Machine
Screws Removal from Glass or Acrylic
panel).

10. Position the fourth panel with two
bottom corner brackets installed
to create a 4-way panel
connection and level it
accordingly.

11. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 7).

12. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in 4-way
top connector into the fourth
panel, (Figure 8).

M6 X 16 MM
Flat Machine Screw

M6 X 16 MM
Flat Machine Screw

#8 X 1-1/4"
Flat Head Screlpv

s
e
ot

Iy

X Figure 8

Tools & Hardware Needed

8540-1008 8540-1205
\ @, Q
\ e | R
J) |
Drill Phillips #2 & #3 Bit Torpedo Level #3 X 1-1/4”, Flat M6 X 16MM Flat
or Robertson # 2 Head Screw (2X) Machine Screw (2X)

June 2019

switch 33



4-Way Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Securely fasten intermediate panel
connector to top connector
bracket with four #10-24 X 1/4”
Round Head Screws, (Figure 1).

2. Position the assembled connectors
on top edge of the shorter panel,
(Figure 2).

3. Drive two #8 X 1-1/4” Flat Head
Screws through the holes in top
connector bracket into the top
edge of shorter panel.

48X 1-1/4"

Continued on the next page >> Flat Head Screw

Top Connector

Bracket

#10-24 X 1/4" Figure 1 Figure 2

Round Head Screw
Tools & Hardware Needed

8393-0041 8393-0043 8540-1188
Drill Phillips #2 & #3 Bit Top Corner Bracket | Intermediate #10-24 X 1/4", RH
or Robertson # 2 Panel Connector Screw (4X)
8540-1008
L
W,

#3 X 1-1/4”, Flat
Head Screw (2X)

June 2019 switch 34



4-Way Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).
4. Position one of the tall panel and
shorter panel with connectors
installed to create 90-degree
angle.
5. Level the panels accordingly.
Securely fasten the bottom corner
bracket to the panel legs with four
M6 X 16MM Flat Machine Screws,
(Figure 3).
Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
intermediate panel connector into
the taller panel, (Figure 4).
Position bottom corner bracket to
the third panel and securely fasten
it into panel leg with two M6 X
16MM Flat Machine Screws,
(Figure 5).
Position the third panel to create
3-way panel connection and level
it accordingly.
10. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 6).

®

Continued on the next page >>

@

Bottom Connector
Bracket

o T H:a\
\
A

M6 X 16MM
Flat Machine Screw

Figure 3

Bottom Connector
Bracket

M6 X 16MM
Flat Machine Screw

Figure 5

#8 X 1-1/2"
Washer Head Screw

Figure 4

M6 X 16MM
Flat Machine Screw

Figure 6

Tools & Hardware Needed

|

8540-1185

S

8393-0044

£X

Drill Phillips #2 & #3 Bit Torpedo Level #8 X 1-1/2" Washer | Bottom Corner
or Robertson # 2 Head Screw (2X) Bracket (2X)
8540-1205
@
X%
M6 X 16MM Flat
Machine Screw (8X)

June 2019

switch 35



4-Way Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

"T" Filler
Connector

11. Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
intermediate panel connector into
the taller panel, (Figure 7).

12. Position “T” filler connector at
desired location of fourth panel,
(Figure 8).

13. Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
“T” filler connector into the fourth
panel.

14. Follow Steps 11 and 12 above to
install the remaining “T” filler
connectors.

M6 X 16MM
15. Install the two bottom corner

brackets to panel leg of fourth
panel with M6 X 16 MM Flat
Machine Screws, (Figure 8).
16. Position “T” top connector at
desired location, (Figure 9).
17.Drive four #8 X 1-1/4” Flat Head
Screws through the holes in “T”
top connector into the panels.

Continued on the next page >>

Flat Machine Screw

#3X1-1/2"
Washer Head

Bottom Connector
Bracket

Figure 8

Screw

#8 X 1-1/4"
Flat Head Screw

"T" Top

#8 X 1-1/2"
Washer Head Screws

Figure 7

Figure 9

Tools & Hardware Needed

S

8393-0045,8683-
004088540-1188

8406-0034

34 & 42 High Panels - 1X
50 & 66 High Panels - 2X

8540-1185

Sy

08 &16 High Filler— 2X
24 & 32 High Filler- 4X

Drill Phillips #2 & #3 Bit “T” Top “T” Filler Connector | #8 X 1-1/2" Washer
or Robertson # 2 Connector w/ Cap Head Screw
8393-0044 8540-1205 8540-1008 8540-1185
AT @ @
( (@7):“? .

fr] | N g

Bottom Corner M6 X 16MM Flat #3 X 1-1/4”, Flat #3 X 1-1/2" Washer

Bracket (2X) Machine Screw (4X) | Head Screw (4X) Head Screw (2X)

June 2019 switch 36



4-Way Panel Connection — Type B

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

18. Position the fourth panel to create
4-way panel connections and level
it accordingly.

19. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 10).

20. Drive two #8 X 1-1/4” Flat Head
Screws through the holes in “T”
filler connector into the fourth
panel, (Figure 11).

M6 X 16MM
Flat Machine Screw

\‘\.

\

e

M6 X 16MM
Flat Machine Screw

Figure 10
#3 X 1-1/2"
Washer Head Screw
q
Figure 11

Tools & Hardware Needed

8540-1008

.
\i(({(’(«;‘r?.,’
{ l(("'((»

8540-1205

.
%

Drill P

hillips #2 & #3 Bit #3 X 1-1/4”, Flat

or Robertson # 2 Head Screw (2X)

M6 X 16MM Flat
Machine Screw (2X)

June 2019

switch 37



4-Way Panel Connection — Type C

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Position the tall panels to create
90-degree angle and level them
accordingly.

2. Securely fasten bottom corner
bracket to panel legs with four M6
X 16MM Flat Machine Screws,
(Figure 1).

3. Position 90-degree top connector

with cap at the top corner of the

two panels.

Drive four #8 X 1-1/4” Flat Head

Screws through the holes in 90-

degree top connector into the

panels, (Figure 2).

5. Securely fasten intermediate panel
connector to 90-degree top
connector with two #10-24 X 1/4”
Round Head Screws, (Figure 3).

w/ Cap .

Continued on the next page >>

#8 X 1-1/4"
" Flat Head Screw

Figure 2

Intermediate T
Panel Connector !

Bottom Corner
Bracket

90° Top
Connector

M6 X 16MM
Flat Machine Screw

Figure 1

#10-24 X 1/4"
Round Head Screw

Figure 3

Tools & Hardware Needed

8393-0046, 8540- 8540-1008
1188 & 8683-0040
M“‘fu(
g
Drill Phillips #2 & #3 Bit Torpedo Level 90° Top Connector #8 X 1-1/4”, Flat
or Robertson # 2 with Top Cap Head Screw (4X)
8540-1205 8393-0043 8393-0046 8540-1188
(((
% ©
Bottom Corner M6 X 16MM Flat Intermediate 90° Top Connector #10-24 X 1/4", RH
Bracket Machine Screw (4X) | Panel Connector Screw (2X)
June 2019 switch 38



4-Way Panel Connection — Type C

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer

Head Screws on Glass or Acrylic Panel. 48X 1-1/4"

. Flat Head Screw
Remove machine screws from the glass —

or acrylic frame and apply them to the \\g g
connector bracket, (See Machine i
Screws Removal from Glass or Acrylic
panel).

Bottom Connector
Bracket

6. Position the assembled connectors
on top edge of one of the short
panels, (Figure 4).

7. Drive two #8 X 1-1/4” Flat Head
Screws through the holes in 90-
degree top connector into the
shorter panel.

8. Securely fasten bottom corner
bracket to panel leg with two M6 X
16MM Flat Machine Screws,
(Figure 5).

9. Position the panel to create 3-way
panel connections and level it
accordingly.

10. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 6).

11. Drive four #8 X 1-1/2" Washer
Head Screws through the holes in
intermediate panel connector into
the panels, (Figure 7).

M6 X 16 MM
Flat Machine Screw

Figure 4 Figure 5

#8 X 1-1/2"
Washer Head Screw

M6 X 16MM

Continued on the next page >> Flat Machine Screw

Figure 6 Figure 7

Tools & Hardware Needed

8540-1008 8393-0044
K™ AT,
\ Q U, A
S Gy |
J)
Drill Phillips #2 & #3 Bit Torpedo Level #8 X 1-1/4, Flat Bottom Corner
or Robertson # 2 Head Screw (2X) Bracket

8540-1205 8540-1185

@
Wy | Ny

M6 X 16MM Flat #3 X 1-1/2" Washer
Machine Screw (4X) | Head Screw (4X)

June 2019 switch 39



4-Way Panel Connection — Type C

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

12. Position the two bottom corner
brackets of the fourth panel,
(Figure 8).

13. Securely fasten the bottom corner
brackets to panel leg with M6 X
16MM Flat Machine Screws.

14. Position the fourth panel to create
4-way configuration and level it
accordingly.

15. Secure the base with two M6 X
16MM Flat Machine Screws,
(Figure 9).

16. Drive two #8 X 1-1/4” Flat Head
Screws through the holes in
intermediate panel connector into
the panels, (Figure 10).

17. Position 90-degree filler connector
at desired location, (Figure 11).

18. Drive four #8 X 1-1/2" Washer
Head Screws through the holes in
90-degree filler connector into the
panels.

19. Follow Steps 17 and 18 above to

A

oY
)

Qg/

e

M6 X 16MM
Flat Machine Scr

Bottom Connector

Bracket

#3 X 1-1/4"
Flat Head Screw

Figure 8

H8 X 1-1/2"
Washer Head Screw

M6 X 16MM
Flat Machine Screw

Figure 9

90° Filler

Connector

install the remaining 90-degree Figure 10 Figure 11
connector.
Tools & Hardware Needed
8393-0044 8540-1205
7
AN (] | e
J
Drill Phillips #2 & #3 Bit Torpedo Level Bottom Corner M6 X 16MM Flat
or Robertson # 2 Bracket (2X) Machine Screw (6X)
8540-1008 8406-0033 8540-1185
W, Il
({!/{'ZJ’,:\ ) | |
A
08 &16 High Filler— 1X 08 &16 High Filler- 4X
24 & 32 High Filler- 2X 24 & 32 High Filler- 8X
#8 X 1-1/4”, Flat 90° Filler Connector | #8 X 1-1/2" Washer
Head Screw (2X) Head Screw
June 2019 switch 40



4-Way Panel Connection — Type D

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

1. Position straight “T” 180° top
connector on top edge of one of
the short panels, (Figure 1).

Drive two #8 X 1-1/4” Flat Head
Screws through the holes in
straight “T” 180° top connector
into the panel.

Securely fasten the bottom corner
bracket to panel leg with two M6 X
16MM Flat Machine Screws,
(Figure 2).

Position one of the tall panel and
short panel with connectors
installed to create a 90-degree
angle.

Level the panels accordingly.
Position the intermediate panel
connector at desired location,
(Figure 3).

Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
intermediate panel connector into
the tall panel.

Continued on the next page >>

iy

e N

Bottom Connector
Bracket

~r

M6 X 20MM
Flat Machine Screw

Figure 2

————#8x 1-1/4"
Flat Head Screw

Straight “T” 180°
Top Connector

Figure 1

o Intermediate
Panel Connector

Straight "T" 180°
Top Connector
Ty /M'i)/

TTR8 X 1-1/2"
Washer Head Screw

Figure 3

Tools & Hardware Needed

S

8393-0047

Drill

Phillips #2 & #3 Bit Torpedo Level

Straight “T” 180° Intermediate Panel

or Robertson # 2 Top Connector Connector
8540-1008 8540-1185 8393-0044 8540-1205
W@f AR @
.. ((
g % IE?E‘ %
e
#38 X 1-1/4”, Flat #3 X 1-1/2" Washer | Bottom Corner M6 X 16MM Flat
Head Screw (2X) Head Screw (2X) Bracket Machine Screw (2X)

June 2019

switch 41



4-Way Panel Connection — Type D

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

8. Securely fasten the base with two
M6 X 16MM Flat Machine Screws,
(Figure 4).

9. Position the third panel (tall panel)
to create a 3-way configuration
and level it accordingly.

10. Determine the location of the
intermediate panel connector and
“T” filler connector, (Figure 5).

11.Securely fasten the intermediate
panel connector and “T” filler
connector with two #8 X 1-1/2"
Washer Head Screws.

12. Repeat Steps 10 and 11 to install
the remaining “T” filler
connectors.

13. Securely fasten bottom corner
bracket to panel leg of the third
panel with two M6 X 16 MM Flat
Machine Screws, (Figure 5).

Continued on the next page >>

=

M6 X 16MM
Flat Machine Screw

Bottom Connector
Bracket

Figure 4

Figure 5

"T" Filler
Connector

e #8X1.1/2"

Washer Head Screw

g
48X 1-1/2"
Washer Head Screw

Intermediate
Panel Connector

Bottom Connector
Bracket

M6 X 16MM
Flat Machine Screw

Tools & Hardware Needed

N | Wy

8540-1185

8393-0042

Drill Phillips #2 & #3 Bit Torpedo Level Intermediate Panel #8 X 1-1/2" Washer
or Robertson # 2 Connector Head Screw (2X)
8540-1185 8393-0044 8540-1205
T o] | N
08 &16 High Filler - 2X
24 & 32 High Filler - 2X 24 & 32 High Filler - 4X
“T” Filler Connector | #8 X 1-1/2" Washer | Bottom Corner M6 X 16MM Flat
Head Screw Bracket Machine Screw (4X)

June 2019

switch 42



4-Way Panel Connection — Type D

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the

connector bracket, (See Machine I

. TR ol )
Screws Removal from Glass or Acrylic ~al _
panel). / ik

M6 X 16MM
14. Secure the base with two M6 X Flat Machine Screw

16MM, Flat Machine Screws,
(Figure 6). s
15. Securely fasten the connectors Figure 6 M6 X 16MM
with two #10-24 X 1/2" Round Flat Machine Screw
Head Screws, (Figure 7).
16. Position straight “T” 180° top
connector with pre-installed top
cap at desired location, (Figure 8).
17.Drive four #8 X 1-1/4” Flat Head
Screws through the holes in
straight “T” 180° top connector #8X 1-1/4"
into the panels. Flat Head Screw**i ]
|

Continued on the next page >>

#10-24 X 1/2" i
Round Head Screws—____|[Ti

Straight “T” 180° Figure 7

Top Connector
w/ Cap

Tools & Hardware Needed

8540-1017 8540-1205
(([(((
Drill 90° Angle Drill Phillips #2 & #3 Bit #10-24 X 1/2" RH M6 X 16MM Flat
or Robertson # 2 Screw (2X) Machine Screw (2X)
8393-0047, 8540- 8540-1008
1188 & 8683-0040

Straight Top #38 X 1-1/4”, Flat
Connector w/ Cap Head Screw (4X)

June 2019 switch 43



4-Way Panel Connection — Type D

Caution: Do not use #8 X 1-1/4” Flat
Head Screws and #8 X 1-1/2” Washer
Head Screws on Glass or Acrylic Panel.
Remove machine screws from the glass
or acrylic frame and apply them to the
connector bracket, (See Machine
Screws Removal from Glass or Acrylic
panel).

18. Install two bottom corner brackets
to panel leg of fourth panel with
M6 X 16MM Flat Machine Screws,
(Figure 9).

19. Position the fourth panel to create
4-Way panel connections.

20. Secure the base with two M6 X
16MM, Flat Machine Screws,
(Figure 10).

21. Drive two #8 X 1-1/4” Flat Head
Screws through the holes in straight
“T” 180° top connector into the
panel, (Figure 11).

o
= ;c
/
Bottom Connector Jf
Bracket /
Figure 9 ’
Mé X 16MM

M6 X 16MM
Flat Machine Screw

=

Flat Machine Scre

#8 X 1-1/4"
Flat Head Screw. g

""'--CI{%JBE-:;E% B

=i

o

M6 X 16MM
Flat Machine Screw

Figure 10

Tools & Hardware Needed

June 2019

8393-0044 8540-1205
AT (@
Nl
Drill Phillips #2 & #3 Bit Torpedo Level Bottom Corner M6 X 16MM Flat
or Robertson # 2 Bracket (2X) Machine Screw (6X)
8540-1008
W 7
U,
#38 X 1-1/4”, Flat
Head Screw (2X)
switch 44



Elevated Panel Foot Cap Installation

1. Position the foot cap at desired
location, (Figure 1).

2. Cover the cavity of the panel leg by
pushing the foot cap until it stays
firmly.

Elevated Panel

Elevated Panel %
Foot Cap

Elevated Panel
Foot Cap

Figure 1

Tools & Hardware Needed

8393-0062

Elevated Panel Foot
Cap (2X)

June 2019 switch 45



Machine Screws Removal from Glass or Acrylic Panel

1. Remove machine screws from glass
or acrylic frame and apply them to
the connector bracket.

Glass or Acrylic

Fabric or Laminate

#8-32 X 5/8" Phillips Drive
Flat Head Machine Screw

.. #8-32 X 5/16", Phillips Drive
Pan Head Screw

Tools & Hardware Needed

8540-1196

@

8540-1209

©

Drill

Phillips #2 & #3 Bit
or Robertson # 2

#8-32 x 5/8" FH
Machine Screw

#8-32 X 5/16" PH
Phillips Drive Screw

June 2019

switch 46



Top Trim Installation

1. |Install top trim by snapping on
connector.

2. Slide the top trim to center.

Top Trim

Connector

Tools & Hardware Needed

June 2019 switch 47



End Trim Installation

1. |Install end trim by inserting the
corner cap with end trim into the
top trim and pressing end trim into
the vertical extrusion, (Figure 1).

.. Corner Cap

Figure 1

End Trim

Tools & Hardware Needed

June 2019

switch 48



90-degree Filler Installation

1. Position 90-degree filler, flush with
bottom of top cap, parallel to
vertical edge and pressing the 90-
degree filler to snap on connectors,
(Figure 1).

___—90°Filler

Tools & Hardware Needed

June 2019 switch 49



“T” Filler Installation

1. Position “T” filler, flush with bottom
of top cap, parallel to vertical edge
and pressing the “T” filler to snap
on connectors, (Figure 1).

"T" Filler ——

Figure 1

Tools & Hardware Needed

June 2019 switch 50



Partial End Trim Filler Installation

1. |Install partial end trim by inserting
the corner cap with partial end trim
into the top trim and pressing
partial end trim into the vertical ) ]

Partial End Trim &

extrusion, (Figure 1). \ .
-~
BN

Corner Cap

A
=

Corner Cap

Figure 1

Tools & Hardware Needed

June 2019 switch 51



Partial 90-degree Filler Installation

1. Position partial 90-degree filler,
flush with bottom of top cap,
parallel to vertical edge and
pressing the partial 90-degree filler
to snap on connectors, (Figure 1).

Partial 90° Filler——

Tools & Hardware Needed

Figure 1

June 2019 switch 52



Partial “T” Filler Installation

1. Position partial “T” filler, flush with
bottom of top cap, parallel to
vertical edge and pressing the
partial “T” filler to snap on
connectors, (Figure 1).

—

Partial "T" Filler

Fiis)

Figure 1

Tools & Hardware Needed

June 2019 switch 53



Corner Connector Installation

1. Starting from corner top of panels,
press in corner connector between
the vertical slots extrusion located at
the ends of each panel, (Figure 1).
NOTE: The corner connector should
be inserted prior to any storage or
surface brackets except flipper
cabinets.

Figure 1

Tools & Hardware Needed

June 2019 switch 54



Top Trim Mid Cap

1. Position Top Trim Mid Cap in-
between the two top trims,
(Figure 1).

2. Pressthe Top Trim Mid Cap to
snap on the top trims.

Figure 1

Top Tri

m

Mid Cap

Top Trim
Mid Cap
a

Tools & Hardware Needed

S

8540-1200

"f(f(";—,
@
@t(fgg;

8393-0230

Drill

Phillips #2 & #3 Bit
or Robertson # 2

#3 X 1-3/4”, Flat
Head Screw (3X)

Top Trim Cap -Mid

June 2019

switch 55



Top Trim Mid Cap with Panel Mounted Glass/Acrylic Screen

1. Position Top Trim Mid Cap in-
between the two top trims,
(Figure 1).

2. Pressthe Top Trim Mid Cap to
snap on the top trims.

Figure 1

Top Trim Mid Cap

Top Trim Mid Cap

Tools & Hardware Needed

8540-1200 8393-0231
W,
(@

Drill

Phillips #2 & #3 Bit
or Robertson # 2

#3 X 1-3/4”, Flat
Head Screw (3X)

Top Trim Cap-Mid

June 2019

switch 56



Corner Connector Installation with Flipper Cabinet

1. Measure down from the bottom of
the flipper cabinet to the top of the
raceway cover, (Figure 1).

2. Cutthe corner connector to size
using a utility knife.

3. Starting from the bottom of the
flipper cabinet, press in corner
connector between the vertical slots
extrusion located at the ends of each
panel, (Figure 2).

Corner Connector J

Tools & Hardware Needed

Utility Knife

June 2019 switch 57



Spline Connector Installation

1. Starting from top of panels, press in
spline connector between the
vertical slots extrusion located at the
ends of each panel, (Figure 1).

NOTE: The spline connector should
be inserted prior to any storage or
surface brackets.

— Spline Connector

Figure 1

Tools & Hardware Needed

June 2019 switch 58



Raceway Cover Installation

1. Insert the panel leg “U” cavity into
the two slotted holes at the bottom
of raceway cover, (Figure 1).

2. Raise the raceway cover up and
push gently to click, (Figure 2).

Raceway Cover

Slotted Hole
Panel Leg
"U" Cavity

Figure 1

Raceway Cover

Figure 2

Tools & Hardware Needed

June 2019

switch 59



Gallery Panel, Single Span End

1. Position and align two holes in
gallery panel top bracket to pre-
drilled holes in gallery panel,
(Figure 1).

2. Drive two #8 X 3/4" Flat Head
Screws through the holes in gallery
panel top bracket into the pre-
drilled holes of gallery panel.

3. Position the standard panel and
gallery panel to create a 90-degree
connection.

Sta ndalrd Panel

4. Level the panels accordingly.

5. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in gallery
panel top bracket into the
standard panel, (Figure 2).

6. Drive four #8 X 1-1/4" Flat Head
Screws through the holes in
standard panel leg into the pre-
drilled holes of gallery panel,
(Figure 3).

Gallery Panel, End
Single Span

——-$8X 1-1/4"

: \waww«mmm@

Flat Head Screw

Figure 2

#8X11/4"

Gallery Panel

Top Bracket
ﬂ
>

H8 X 3/a—"

Flat Head Screw

/

/
Gallery Panel, End
Single Span

TR

Figure 1

Flat Head Screw

Figure 3

Tools & Hardware Needed

S

8393-0058

Drill Phillips #2 Bit or Torpedo Level Gallery Panel Top
Robertson #2 Bit Bracket
8540-0532 8540-1008
w.'(((
g

#8 X 3/4" Flat Head
Screw (2X)

#38 X 1-1/4”, Flat
Head Screw (6X)

June 2019

switch 60



Gallery Panel, Double Span End, 1 Piece

1. Position and align two holes in
panel top bracket to pre-drilled
holes in gallery panel, (Figure 1).

2. Drive two #8 X 3/4" Flat Head
Screws through the holes in gallery
panel top bracket into the pre-
drilled holes of gallery panel.

Gallery Panel

Continued on the next page >>

Standard Panel =
#8x3/4"
' Flat Head Screw
' i Gallery Panel
L Top Bracket

Gallery Panel

Figure 1

Tools & Hardware Needed

8393-0058 8540-0532
\ j X7
Drill Phillips #2 Bit or Gallery Panel Top #8 X 3/4" Flat Head
Robertson #2 Bit Bracket Screw (2X)

June 2019 switch 61



Gallery Panel, Double Span End, 1 Piece

3. Position the standard panel to
create a “T” Configuration and
level the panels accordingly,
(Figure 2).

4. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in gallery
panel top bracket into the
standard panel.

5. Drive four #8 X 1-1/4" Flat Head
Screws through the holes in
standard panel leg into the pre-
drilled holes of gallery panel,
(Figure 3).

#8 X 1-1/4"
/Flat Head Screw

Gallery Panel

Figure 2

#83X11/4"
Flat Head Screw

Figure 3

Tools & Hardware Needed

8540-1008
m(@’f
@y
Nl @
Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/4”, Flat
Robertson #2 Bit Head Screw (6X)

June 2019 switch 62



Gallery Panel, Double Span End, 2 Pieces

1. Grab the gallery panel that has no
pre-drilled holes.

2. Securely fasten the male bed
fitting brackets with #8 X 1-1/2”
Flat Head Screws into the gallery
panel, (Figure 1).

3. Grab the other gallery panel that
has pre-drilled holes.

4. Securely fasten the female bed
fitting brackets with #8 X 1-1/2”
Flat Head Screws into the gallery
panel, (Figure 2).

Continued on the next page >>

Standard Panel

v

Gallery Panel

Bed Fitting
Bracket, Male
H8 X 1-1/2"

el Flat Head Screw

Figure 1

Gallery Panel

Double Span End, 2 Pieces

Gallery Panel

Pre-drilled Holes

Bed Fitting Bracket,
Female

N X112

Flat Head Screw

Figure 2

Tools & Hardware Needed

S

8540-0948M
@

8540-0948F
i

L

Drill Phillips #2 Bit or
Robertson #2 Bit

Bed Fitting Bracket,
Male (2X)

Bed Fitting Bracket,
Female (2X)

8540-0591

e

#38 X 1-1/2" Flat
Head Screw (12X)

June 2019

switch 63




Gallery Panel, Double Span End, 2 Pieces

5. Position and align the holes in gallery
panel top bracket to pre-drilled
holes in gallery panel with female
bed fitting bracket, (Figure 3).

6. Drive two #8 X 3/4" Flat Head Screws
through the holes in gallery panel
top bracket into the pre-drilled holes
of gallery panel.

7. Position the standard panel and
gallery panel with the panel top
bracket to create a 90-degree angle.

8. Level the panels accordingly.

9. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in gallery
panel top bracket into the standard
panel, (Figure 4).

10. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in standard
panel leg into the pre-drilled holes of
gallery panel, (Figure 5).

11. Attach the gallery panel with male
bed fitting brackets by inserting the
hooks into the female bed fitting
bracket and releasing the gallery
panel down to engage the lock,
(Figure 6).

12. Level off the gallery panels (use the
torpedo level).

H8 X 3/4" #8 X 1-1/4"
Flat Head Screw—f}

A

Flat Head Screw

Gallery Panel ¢
Top Bracket

Gallery Panel w/
Bed Fitting Bracket, FM

Figure 3 Figure 4

Gallery Panel w/
Bed Fitting Bracket, Male

_——

#8 X 1-1/4"

Flat Head Screw Standard Panel

Figure 5 Figure 6

Tools & Hardware Needed

8393-0058
N
\
J
Drill Phillips #2 Bit or Torpedo Level Gallery Panel Top
Robertson #2 Bit Bracket
8540-0532 8540-1008

"(((((((((

#8 X 3/4" Flat Head #8 X 1-1/4”, Flat
Screw (2X) Head Screw (4X)

June 2019

switch 64



Gallery Panel, Single Span Mid

1. Position and align holes in gallery
panel top bracket to pre-drilled
holes in gallery panel, (Figure 1).

2. Drive two #8 X 3/4” Flat Head
Screws through the holes in gallery
panel top bracket into the pre-
drilled holes of gallery panel.

3. Follow Steps 1 and 2 to install the
remaining gallery panel top
bracket on the other side of the
gallery panel.

Continued on the next page >>

\

Gallery Panel

Gallery Panel
Top Bracket

#8 X 3/4"
Flat Head Screw

Gallery Panel, Mid

Single Span

_———_"—/;

«

L

/

___Standard Panel

Figure 1

Tools & Hardware Needed

S

8393-0058

Drill

Phillips #2 Bit or
Robertson #2 Bit

Torpedo Level

Gallery Panel Top
Bracket (2X)

8540-0532

"(((((((((

#8 X 3/4" Flat Head
Screw (4X)

June 2019

switch 65



Gallery Panel, Single Span Mid

4. Position the standard panel to
create a 90-degree connection and
level the panels accordingly.

5. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in gallery
panel top bracket into the
standard panel, (Figure 2).

6. Drive two #8 X 1-1/4" Flat Head

#8X1-1/4"
Flat Head Screw—.

Screws through the holes in all B

standard panel leg into the pre- :L'

drilled holes of gallery panel, ./,'/;fj

(Figure 3). =
7. Position the other standard panel #8 X 1-1/4"

to create a “T” connection and Flat Head Screw

level the panels accordingly.

8. Follow Steps 5 and 6 to install the
other standard panel, (Figures 4 Figure 2 Figure 3
and 5).

#8 X 1-1/4"
Flat Head Screw

T rex1/e it %

: Flat Head S ;
Figure 4 at neac serew Figure 5

Tools & Hardware Needed

S |

Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/4”, Flat
Robertson #2 Bit Head Screw (8X)

8540-1008

June 2019 switch 66



Gallery Panel, Double Span Mid, 1 Piece

1. Position and align the holes in
gallery panel top bracket to pre-
drilled holes in gallery panel,
(Figure 1).

Drive two #8 X 3/4” Flat Head
Screws through the holes in gallery
panel top bracket into the pre-
drilled holes of gallery panel.
Follow Steps 1 and 2 to install the
remaining gallery panel top
bracket on the other side of the
gallery panel.

Continued on the next page >>

H#8 x 3/4"
Flat Head Screw\\_‘:/

.

Figure 1

Gallery Panel
Top Bracket

Gallery Panel, Mid

Gallery Panel

Standard Panel

Double Span Mid, 1 Piece

q::__—:__‘il\

—

R

Double Span, 1 piece

Tools & Hardware Needed

S

8393-0058

Drill Phillips #2 Bit or Torpedo Level Gallery Panel Top
Robertson #2 Bit Bracket (2X)
8540-0532
w.'(((
g
#8 X 3/4" Flat Head
Screw (4X)
June 2019 switch 67



Gallery Panel, Double Span Mid, 1 Piece

4. Position the standard panel
perpendicular to gallery panel with
top bracket and level the panels
accordingly.

5. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in gallery
panel top bracket into the
standard panel, (Figure 2).

#8 X 1-1/4"
Flat Head Screw

6. Drive two #8 X 1-1/4" Flat Head 1T |
Screws through the holes in - 'J/Iﬁ =0
standard panel leg into the pre- [-;” = Sam gy

S /

drilled holes of gallery panel,
(Figure 3).
7. Position the other standard panel
and level the panels accordingly.
8. Follow Steps 5 and 6 to install the

#3X11/4"
Flat Head Screw «__

other standard panel, (Figures 4 Figure 2 Figure 3
and 5).

#8 X 1-1/4" T

Flat Head Screwf-—-w.;_,i /;ﬁ/

Figure 4

~#8X11/4"
Flat Head Screw

Figure 5

Tools & Hardware Needed

8540-1008
0y
\
J
Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/4”, Flat
Robertson #2 Bit Head Screw (8X)
June 2019 switch 68



Gallery Panel, Double Span Mid, 2 Pieces

1. Grab the gallery panel that has no
pre-drilled holes.

2. Securely fasten the male bed
fitting brackets with #8 X 1-1/2”
Flat Head Screws into the gallery
panel, (Figure 1).

3. Grab the other gallery panel that
has pre-drilled holes.

4. Securely fasten the female bed
fitting brackets with #8 X 1-1/2”

Flat Head Screws into the gallery
panel, (Figure 2). //i%\é(//«

Standard Panel
Gallery Panel

Double Span Mid, 2 Pieces

v v

Gallery Panel

Standard Panel

Continued on the next page >>

—/o
~—

Gallery Panel

o o
Pre-drilled Holes U 1

Bed Fitting
Bracket, Male
Bed Fitting Bracket,
Female

i #8 X 1-1/2" -
St \(Flat Head Screw T,
Mo, Wl S wxaaye
s & < g Flat Head Screw
~ Figure 1 ) Figure 2

Tools & Hardware Needed

8540-0948-M 8540-0948-F
® fo

L

S

Drill Phillips #2 Bit or Bed Fitting Bracket, Bed Fitting Bracket,
Robertson #2 Bit Male (2X) Female (2X)

8540-0591

e

#38 X 1-1/2" Flat
Head Screw (12X)

June 2019 switch 69



Gallery Panel, Double Span Mid, 2 Pieces

5.

6.

7.

9.

Position and align the holes in
gallery panel top bracket to pre-
drilled holes in gallery panel with
female bed fitting bracket,
(Figure 3).

Drive two #8 X 3/4" Flat Head
Screws through the holes in
gallery panel top bracket into the
pre-drilled holes of gallery panel.
Follow Steps 5 and 6 to install the
other gallery panel top bracket.
Position the standard panel and
gallery panel with the panel top
brackets to create a 90-degree
angle, (Figure 4).

Level the panels accordingly.

10. Drive two #8 X 1-1/4" Flat Head

Screws through the holes in
gallery panel top bracket into the
standard panel.

11. Drive two #8 X 1-1/4" Flat Head

Screws through the holes in
standard panel leg into the pre-
drilled holes of gallery panel,
(Figure 5).

12. Attach the gallery panel with

male bed fitting brackets by
inserting the hooks into the
female bed fitting bracket and
releasing the gallery panel down
to engage the lock, (Figure 6).

13. Level off the gallery panels (use

the torpedo level).

14. Position the other standard panel

to create a 4-way configuration.

15. Follow Steps 9,10, 11, 12 and 13

to attach the other standard
panel.

Gallery Panel
Top Bracket

#8 X 3/4"

Flat Head Screw L _

Figure 3

o, ———

£

#8 X 1-1/4"
Flat Head Screw

Figure 5

#8 X 1-1/4

Flat Head Screw

Gallery Panel w/

Figure 4

Bed Fitting Bracket, Male

Standard Panel

Figure 6

Tools & Hardware Needed

8393-0058

=0

Drill

Phillips #2 Bit or
Robertson #2 Bit

Torpedo Level

Gallery Panel Top
Bracket (2X)

8540-0532

"(((((((((

8540-1008

#8 X 3/4" Flat Head
Screw (4X)

#38 X 1-1/4”, Flat
Head Screw (4X)

June 2019

switch 70



Gallery Panel, Single Span Step-down, End

1. Position and align holes in gallery
panel intermediate bracket to pre-
drilled holes in gallery panel,
(Figure 1).

2. Drive two #8 x 3/4" Flat Head
Screws through the holes in gallery
panel intermediate bracket into
the pre-drilled holes of gallery
panel.

Continued on the next page >>

#8 X 3/4"
Flat Head Screw

Gallery Panel

Intermediate Bracket

Standard Panel

Gallery Panel, End

TS

ey

Gallery Panel,
Single Span End

Figure 1

Tools & Hardware Needed

June 2019

8393-0056 8540-0532
w
w.'(((
Drill Phillips #2 Bit or Gallery Panel #8 X 3/4" Flat Head
Robertson #2 Bit Intermediate Bracket | Screw (2X)
switch 71



Gallery Panel, Single Span Step-down, End

3. Position the standard panel and
gallery panel to create a 90-degree
connection.

4. Level the panels accordingly.

5. Drive two #8 x 1-1/2" Washer
Head Screws through the holes in
gallery panel intermediate bracket
into the standard panel, (Figure 2).

6. Drive four #8 X 1-1/4" Flat Head
Screws through the holes in
standard panel leg into the pre-
drilled holes of gallery panel,
(Figure 3).

#8 X 1-1/2"
Washer Head Screw

Figure 2

o ~ =
#8 X 1-1/4"

Flat Head Screw Gallery Panel,

End Single Span.;

Figure 3
Tools & Hardware Needed
8540-1185
A
8
J
Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/2" Washer
Robertson #2 Bit Head Screw (2X)
8540-1008
*?f@;p&
‘Wﬁ?x
\(7)
@

#38 X 1-1/4”, Flat
Head Screw (6X)

June 2019 switch 72



Gallery Panel, Double Span Step-down End, 1 Piece

1. Position and align holes in gallery
panel intermediate bracket to pre-
drilled holes in gallery panel,
(Figure 1).

2. Drive two #8 x 3/4" Flat Head
Screws through the holes in gallery
panel intermediate bracket into
the pre-drilled holes of gallery
panel.

Continued on the next page >>

Gallery Panel

Double Span End, 1 Piece |

#8

Gallery
Double

Flat Head Screw—~

T“
I

x 3/4"

Panel
Span, 1 Piece

Gallery Panel

|- Standard Panel

Intermediate Bracket

Figure 1

Tools & Hardware Needed

June 2019

8393-0056 8540-0532
w
w.'(((
Drill Phillips #2 Bit or Gallery Panel #8 X 3/4" Flat Head
Robertson #2 Bit Intermediate Bracket | Screw (2X)
switch 73



Gallery Panel, Double Span Step-down End, 1 Piece

3. Position the standard panel
perpendicular to the gallery panel
and level the panels accordingly.

4. Drive two #8 x 1-1/2” Washer
Head Screws through the holes in
gallery panel intermediate bracket

into the standard panel, (Figure 2).

5. Drive four #8 X 1-1/4" Flat Head
Screws through the holes in
standard panel leg into the pre-
drilled holes of gallery panel,

Standard Panel

Gallery Panel
Intermediate Bracket

#8 X 1-1/2"

(Figure 3). Washer Head Screw
Figure 2
®
0
@
Q
2] :‘/
. \
) L
—=— J_ == =,
c:@@ - -
H8 X 1-1/4"
Flat Head Screw
Figure 3
Tools & Hardware Needed
8540-1185
A
8
J
Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/2" Washer
Robertson #2 Bit Head Screw (2X)
8540-1008
#38 X 1-1/4”, Flat
Head Screw (4X)
June 2019

switch 74



Gallery Panel, Double Span Step-down End, 2 Pieces

Grab the gallery panel that has
no pre-drilled holes.

Securely fasten the male bed
fitting brackets with #8 X 1-1/2”
Flat Head Screws into the
gallery panel, (Figure 1).

Grab the other gallery panel
that has pre-drilled holes.
Securely fasten the female bed
fitting brackets with #8 X 1-1/2”
Flat Head Screws into the
gallery panel, (Figure 2).

Continued on the next page >>

4

Standard Panel

v

Gallery Panel

B ® 5 ®
3 /

r

/

Bed Fitting
/racket, Male

H8 X 1-1/2"
R Flat Head Screw

Figure 1

Gallery Panel
Double Span End, 2 Pieces

\

\-\\

o
Gallery Panel a

ﬁ }‘
Pre-drilled Holes @
o

Bed Fitting Bracket,
Female

i N sgx1-1/2"

Ry Flat Head Screw

\“ Figure 2

Tools & Hardware Needed

S

8540-0948-M 8540-0948-F
® fo

L

Drill

Phillips #2 Bit or
Robertson #2 Bit

Bed Fitting Bracket,
Male (2X)

Bed Fitting Bracket,
Female (2X)

8540-0591

e

#38 X 1-1/2" Flat
Head Screw (12X)

June 2019

switch 75



Gallery Panel, Double Span Step-down End, 2 Pieces

5.

6.

7.

9.

Position and align holes in gallery
panel intermediate bracket to
pre-drilled holes in gallery panel
with female bed fitting brackets,
(Figure 3).

Drive two #8 X 3/4" Flat Head
Screws through the holes in
gallery panel intermediate
bracket into the pre-drilled holes
of gallery panel.

Position the gallery panel with
female bed fitting bracket and
standard panel to create a 90-
degree angle, (Figure 4).

Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
gallery panel intermediate
bracket into the standard panel.
Drive four #8 x 1-1/4” Flat Head
Screws through the holes in
standard panel leg into the pre-
drilled holes of gallery panel,
(Figure 5).

10. Attach the gallery panel with

male bed fitting brackets by
inserting the hooks into the
female bed fitting bracket and
releasing the gallery panel down
to engage the lock, (Figure 6).

11. Level off the gallery panels (use

the torpedo level).

H8 X 3/4"
Flat Head Screw.__
T

Gallery Panel
Intermediate Bracket

Bed Fitting Bracket,/(\

Female

Figure 3

#8 X 1-1/4”
Flat Head Screw

Gallery Panel w/
Bed Fitting Bracket, Male

#8 X 1-1/2”
Washer Head Screw
Figure 4

Figure 5 Figure 6
Tools & Hardware Needed
8393-0056
n i
\ J‘A
| ‘
Drill Phillips #2 Bit or Torpedo Level Gallery Panel
Robertson #2 Bit Intermediate Bracket
8540-0532 8540-1185 8540-1008
W,
wp |

#8 X 3/4" Flat Head
Screw (2X)

#8 X 1-1/2" Washer
Head Screw (2X)

#38 X 1-1/4”, Flat
Head Screw (4X)

June 2019

switch 76



Gallery Panel, Single Span Step-down Mid

1. Position and align holes in gallery
panel intermediate bracket to pre-
drilled holes in gallery panel,
(Figure 1).

2. Drive two #8 x 3/4" Flat Head
Screws through the holes in gallery
panel intermediate bracket into
the pre-drilled holes of gallery
panel.

Continued on the next page >>

Panel Filler_

#8x3/4" ———

Flat Head Screw L

_ Gallery

—1- Standard Panel

Panel,

Single Span Mid

Gallery Panel
| . Intermediate Bracket

Gallery Panel
|- Single Span Mid

Figure 1

Tools & Hardware Needed

8393-0056 8540-0532
’v‘h
w.'(((
Drill Phillips #2 Bit or Gallery Panel #8 X 3/4" Flat Head
Robertson #2 Bit Intermediate Bracket | Screw (2X)

June 2019

switch 77



Gallery Panel, Single Span Step-down Mid

3. Position the standard panel and
the gallery panel to create a 90-
degree connection, (Figure 2).

4. Level the panels accordingly.

5. Drive two #8 X 1-1/2" Washer
Head Screws through the holes in
gallery panel intermediate bracket
into the standard panel.

6. Drive two #8 x 1-1/4” Flat Head
Screws through the holes in
standard panel leg into the pre-
drilled holes of gallery panel,
(Figure 3).

7. Securely fasten gallery panel top
brackets to gallery panel filler
using #8 X 3/4” Flat Head Screws,
(Figure 4).

Continued on the next page >>

Standard Panel

#8 X 1-1/2"
Washer Head Screw

%
@
@
Figure 2 ’
K* @
S g
\\\
\\
( 1 \‘E _
- #8X1-1/4" Po;
B ! Flat Head Screw |° 2
Gallery Panel
Top Bracket
P e =
e [T Figure 3
e P
#8 X 3/4" i g f
Flat Head Screw % :
-
Gallery Panel Filler i
Figure 4

Tools & Hardware Needed

S

8540-1185

Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/2" Washer
Robertson #2 Bit Head Screw (2X)
8540-1008 8393-0058 8540-0532
*A[(ﬂfiu G
@
i 2
#8 X 1-1/4”, Flat Gallery Panel Top #8 X 3/4" Flat Head
Head Screw (2X) Bracket (2X) Screw (4X)
June 2019 switch 78



Gallery Panel, Single Span Step-down Mid

9.

Position the gallery panel filler
over the gallery panel.
Position and align the holes in
gallery panel intermediate
bayonet to pre-drilled holes in
gallery panel filler and gallery
panel, (Figure 5).

10. Attach the gallery panel

intermediate bayonet to gallery
panel filler and gallery panel using
#10 X 11/16" Round Head Screws.

11. Place the other panel in position

and level it accordingly.

12. Drive four #8 X 1-1/4" Flat Head

Screws through the holes in top
connector brackets into the panel,
(Figure 6).

13. Follow Step 6 above.

Figure 6

Gallery Panel Filler

#10 X 11/16”
Round Head Screw

Gallery Panel
Intermediate Bayonet

4@@/

#8 X 1-1/4"
Flat Head Screw

Figure 5

Tools & Hardware Needed

8393-0059

Drill

Phillips #2 Bit or
Robertson #2 Bit

Torpedo Level

Bayonet

8540-0545

hE

8540-1008

#10 X 11/16” Round
Head Screw (6X)

#38 X 1-1/4”, Flat
Head Screw (6X)

June 2019

switch 79



Gallery Panel, Double Span Step-down Mid, 1 Piece

1. Position the gallery panel filler
over the gallery panel, (Figure 1).

2. Align the holes in gallery panel
intermediate bayonet to pre-
drilled holes in gallery panel and
filler.

3. Attach gallery panel intermediate
bayonet to gallery panel and
gallery panel filler using #10 X
11/16" Round Head Screws.

Continued on the next page >>

Standard< :; \ =

#10 X 11/16" —
Round Head Screw

Gallery Panel Filler

Gallery Panel
Intermediate Bayonet

R

Gallery Panel

=y

Standard Panel

Gallery Panel Filler

Figure 1

Tools & Hardware Needed

8393-0059 8540-0545
7
:
Drill Phillips #2 Bit or Bayonet #10 X 11/16” Round
Robertson #2 Bit Head Screw (6X)
June 2019 switch 80



Gallery Panel, Double Span Step-down Mid, 1 Piece

4. Securely fasten the gallery panel
top brackets into the pre-drilled
holes of gallery panel filler using #8
X 3/4" Flat Head Screws, (Figure 2).
Position the standard panel and
level the panels accordingly.

Drive two #8 X 1-1/4" Flat Head
Screws through the holes in gallery

panel top bracket into the standard

Gallery Panel
Top Bracket

:

‘ y

F[u
| \

N

—_—

48X 3/4" L T
Flat Head Screw PO "’D]

panel, (Figure 3). \\ 5
7. Drive two #8 x 1-1/4” Flat Head #8 X 1-1/4" i@ ——
Screws through the holes in ! \

Flat Head Screw——1|
|

standard panel leg into the pre-

drilled holes of gallery panel,
(Figure 4). Figure 2
Continued on the next page >>
Figure 3
0 s,
d@ @- él_’ ;ﬂ
; /
#EX 1-1/4" o8
Flat Head Screw
Figure 4
Tools & Hardware Needed
8393-0058
=
\
J
Drill Phillips #2 Bit or Torpedo Level Gallery Panel Top
Robertson #2 Bit Bracket (2X)
8540-0532 8540-1008
W,
((((((

#8 X 3/4" Flat Head
Screw (4X)

#38 X 1-1/4”, Flat
Head Screw (4X)

June 2019

switch 81



Gallery Panel, Double Span Step-down Mid, 1 Piece

8. Position the other standard panel to
create a 4-way connection and level
the panels accordingly.

9. Follow Steps 6 and 7 to install the
other standard panel, (Figures 5 & 6).

#8X1-1/4"

#8 X 1-1/4"
Flat Head Screw

- Flat Head Screw

Figure 5

Figure 6

Tools & Hardware Needed

S

8540-1008

Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/4”, Flat
Robertson #2 Bit Head Screw (4X)
June 2019 switch 82



Gallery Panel, Double Span Step-down Mid, 2 Pieces

1. Grab the gallery panel that has no
pre-drilled holes.

2. Securely fasten the male bed
fitting brackets with #8 X 1-1/2”
Flat Head Screws into the gallery
panel, (Figure 1).

3. Grab the other gallery panel that
has pre-drilled holes.

4. Securely fasten the female bed
fitting brackets with #8 X 1-1/2”

Flat Head Screws into the gallery \
panel, (Figure 2). A\
K
Continued on the next page >> jﬁ/ /\D
Gallery Panel,
Double Span Mid, 2 Pieces

Gallery Panel Filler

I sta ndard Panel

\,

Standard Panel

v

Gallery Panel
Gallery Panel
Pre-drilled Holes
Bed Fitting ;
Bracket, Male
£ Bed Fitting Bracket,
Female
Bl #8 X 1-1/2" ~
q R Flat Head Screw e,
ol \\\( 7 L
Q- Ml ™ wexaee
L/ \\\ < g Flat Head Screw
\ Figure 1 e Figure 2

Tools & Hardware Needed

8540-0948-M 8540-0948-F
i
\ ¢
L/
Drill Phillips #2 Bit or Bed Fitting Bracket, Bed Fitting Bracket,
Robertson #2 Bit Male (2X) Female (2X)

8540-0591

-

#38 X 1-1/2" Flat
Head Screw (12X)

June 2019 switch 83



Gallery Panel, Double Span Step-down Mid, 2 Pieces

Position and align holes in gallery
panel intermediate bracket to pre-
drilled holes in gallery panel with
female bed fitting bracket, (Figure 3).
Drive two #8 X 3/4" Flat Head Screws
through the holes in gallery panel
intermediate bracket into the pre-
drilled holes of gallery panel with
female bed fitting bracket.

Position the gallery panel with
female bed fitting and standard
panel to create a 90-degree angle,
(Figure 4).

Level the panels accordingly.

Drive two #8 X 1-1/2" Washer Head
Screws through the holes in gallery
panel intermediate bracket into
standard panel.

10. Drive two #8 X 1-1/4" Flat Head

Screws through the holes in panel leg
into the pre-drilled holes of gallery
panel, (Figure 5).

Continued on the next page >>

Gallery Panel w/

Bed Fitting, Female

Figure 4

H8 X 1-1/2"
Washer Head Screw

9 | g
™. R
\ ];},{/,;///
e

Gallery Panel
Intermediate Bracket

#8X 3/4"

Flat Head Screw

" Bed Fitting
Bracket, Female

Figure 3

#8 X 1-1/4" é

Flat Head Screw

Figure 5

Tools & Hardware Needed

8393-0056
n i

\ J‘A

| ‘

Drill Phillips #2 Bit or Torpedo Level Gallery Panel

Robertson #2 Bit Intermediate Bracket
8540-0532 8540-1185 8540-1008
w.'(((
wp |

#8 X 3/4" Flat Head
Screw (2X)

#8 X 1-1/2" Washer
Head Screw (2X)

#38 X 1-1/4”, Flat
Head Screw (2X)

June 2019

switch 84



Gallery Panel, Double Span Step-down Mid, 2 Pieces

11. Attach the gallery panel with male
bed fitting brackets by inserting
the hooks into the female bed
fitting brackets and releasing the
gallery panel down to engage the

lock, (Figure 6).

12. Level off the gallery panel (use the

torpedo level).

13. Securely fasten the gallery panel
top brackets to gallery panel filler
using #8 X 3/4” Flat Head Screws,

(Figure 7).

14. Position the gallery panel filler
over the gallery panel.

15. Position and align the holes in
gallery panel intermediate
bayonet to pre-drilled holes in
gallery panel filler and gallery

panel, (Figure 8).

16. Attach the gallery panel
intermediate bayonet to gallery
panel filler and gallery panel using
#10 X 11/16" Round Head Screws.

Continued on the next page >>

\?ndard Fabric

/

/"”
/
Gallery Panel w/

Al

Bed Fitting, Male

Figure 6

Gallery Panel w/
Bed Fitting, Female

Gallery Panel ]
Intermediate Bayonet

Gallery Panel
Top Bracket _

L TmesEa H#8X3/AY
= >/ ==
Lt D-“’-/

Gallery Panel Filler

Flat Head Screw

Figure 7

#10X 11/16”
Round Head Screw

Figure 8

Tools & Hardware Needed

S

8393-0058

Drill Phillips #2 Bit or Torpedo Level Gallery Panel Top
Robertson #2 Bit Bracket (2X)
8540-0532 8393-0059 8540-0545
'((((( %\
( 7 i )
@ 9

L]

#8 X 3/4" Flat Head
Screw (4X)

GP Intermediate
Bayonet

#10 X 11/16” Round
Head Screw (6X)

June 2019

switch 85



Gallery Panel, Double Span Step-down Mid, 2 Pieces

17.Place the other panel in position to
create a 4-way configuration and
level it accordingly.

18. Drive four #8 x 1-1/4" Flat Head
Screws through the holes in gallery
panel top bracket into the panels,
(Figure 9).

19. Drive two #8 X 1-1/4" Flat Head
Screws through the holes in panel
foot into the pre-drilled holes of
gallery panel, (Figure 10).

#8 X 1-1/4"
___Flat Head Screw

Figure 9

#8X1-1/4"
Flat Head Screw

Figure 10

Tools & Hardware Needed

8540-1008
g
@
Nl @
Drill Phillips #2 Bit or Torpedo Level #8 X 1-1/4”, Flat
Robertson #2 Bit Head Screw (6X)
June 2019 switch 86



Standard Panel Mounted Glass/Acrylic Screen

1. Check the panel top mounted glass
/acrylic base extrusion if there is a

X-mas tree on both ends before Panel Top Mounted '
placing it on top of the top trim, Glass/Acrylic Base Extrusion
(Figure 1).

2. Align the holes of base extrusion
into the pre-drilled holes of the
top trim.

3. Securely fasten base extrusion into
the pre-drilled holes of top trim
with #8 X 1-1/4”, Flat Head
Screws, (Figure 2).

4. |Insert the glass/acrylic with plastic
gasket into the base extrusion,
(Figure 3).

Continued on the next page >>

Figure 1

Glass/Acrylic

#8 X 1-1/4"
{/ Flat Head Screw
|

N . Plastic Gasket

Figure 2 Figure 3

Tools & Hardware Needed

8540-1200
V\’((f(’?—,’/
@
Drill Phillips #2 & #3 Bit #8 X 1-3/4”, Flat

or Robertson # 2 Head Screw (3X)

June 2019 switch 87



Standard Panel Mounted Glass/Acrylic Screen

5. Align and secure the glass/acrylic
by inserting 1/4-20 X 1/4” Socket
Set Screw through each of the
holes on the side of the base
extrusion using Allen Key driver,
(Figure 4).

6. Tighten gently each side until the
glass/acrylic is centered and
secured.

Note: Do not overtighten. Check
the base extrusion if it is straight.
Overtightening set screws will
bend the base extrusion outward
and end caps will not fit. 14 20x1/8

7. Insert the end cap on both ends of Socket Set Screw
the base extrusion then push it
down to secure, (Figure 5). Figure 4

End Cap

; 4'@

Figure 5

Tools & Hardware Needed

8540-1170 8400-0144

Allen Key 1/4 -20 X 1/4 SS End Cap (2X)
Screw (4X)

June 2019 switch 88



Standard Panel Mounted Glass/Acrylic Screen — Double Span

1. Check the panel top mounted
glass /acrylic Frameless Glazed
Extrusion if there is a Nylon X-mas
Tree Clip on both ends before
placing it on top of the top trim,
(Figure 1).

2. Align the holes of Frameless
Glazed Extrusion into the pre-
drilled holes of the top trim.

3. Securely fasten the Frameless
Glazed Extrusion into the pre-
drilled holes of top trim with #8 X
1-1/4”, Flat Head Screws, (Figure
2).

Frameless Glazed
Extrusion

< X

Nylon Xmas
Tree Clip, Black

Continued on the next page >>

Figure 1

#8X1-1/4"
Flat Head Screw

Figure 2

Tools & Hardware Needed

8540-1200
L@
.
\ @«(/
Drill Phillips #2 & #3 Bit #8 X 1-3/4”, Flat

or Robertson # 2 Head Screw (4X)

June 2019 switch 89



Standard Panel Mounted Glass/Acrylic Screen — Double Span

4. |Insert the glass/acrylic with Panel
Top Screen Gasket into the op—

Frameless Glazed Extrusion,
(Figure 3). /

5. Align and secure the glass/acrylic
by inserting 1/4-20 X 1/4” Socket
Set Screw through each of the
holes on the side of the Frameless
Glazed Extrusion using Allen Key
driver, (Figure 4).

6. Tighten gently each side until the
glass/acrylic is centered and
secured. Figure 3
Note: Do not overtighten. Check
the Frameless Glazed Extrusion if
it is straight. Overtightening set
screws will bend the Frameless A
Glazed Extrusion outward and
end caps will not fit.

7. Insert the End Cap on both ends of
the Frameless Glazed Extrusion
then push it down to secure,

(Figure 5).

~

PanelTop Screen
Gasket

1/4-20X1/4
Socket Set Screw

EndCap Figure 4

Figure 5

Tools & Hardware Needed

8540-1170 8400-0144

Allen Key 1/4 -20 X 1/4 SS End Cap (2X)
Screw (4X)

June 2019 switch 90



Gallery Panel Mounted Glass/Acrylic Screen

1. Check the panel top mounted glass
/acrylic base extrusion if there is a
X-mas tree on both ends before
placing it on top of the top trim,
(Figure 1).

2. Position the base extrusion at

desired location. Gallery Panel Top Mounted

Glass/Acrylic Base Extrusion

3. Securely fasten base extrusion
with #8 X 1-1/4” Flat Head Screws,
(Figure 2)

4. |Insert the glass/acrylic with plastic
gasket into the base extrusion,
(Figure 3).

- X-mas Tree

Continued on the next page >>

T Figure 1

I #8 X 1-1/4" Glass/Acrylic
Flat Head Screw

Plastic Gasket

Figure 2 Figure 3

Tools & Hardware Needed

8540-1008
W,
(.
Drill Phillips #2 & #3 Bit #38 X 1-1/4”, Flat
or Robertson # 2 Head Screw

June 2019 switch 91



Gallery Panel Mounted Glass/Acrylic Screen

5. Align and secure the glass/acrylic
by inserting 1/4-20 X 1/4” Socket
Set Screw through each of the
holes on the side of the base
extrusion using Allen Key driver,
(Figure 4).

6. Tighten gently each side until the
glass/acrylic is centered and
secured.

Note: Do not overtighten. Check
the base extrusion if it is straight.
Overtightening set screws will
bend the base extrusion outward
and end caps will not fit.

8. Insertthe end cap on both ends of
the base extrusion then push it
down to secure, (Figure 5).

1/4-20X 1/4

Socket Set Screw —

Figure 4

End Cap

Figure 5

Tools & Hardware Needed

8540-1170 8400-0144
N
Allen Key 11420 X 1/4 SS End Cap (2X)

Screw (4X)

June 2019

switch 92



Transaction Top Installation

1. Angle the transaction bracket at
30-degree angle and insert the
upper hooks to the top most slot
in the panel frame; push the
bracket up, release them down to
engage the lock, (Figure 1).
Ensure the transaction bracket is
secure in the required
configuration: Left or Right.

2. Follow Step 1 above to install the
other brackets.

Continued on the next page >>

Transaction Bracket
/Right Hand

Figure 1

Transaction Bracket
Left Hand

Transaction Bracket
Left Hand

Transaction Bracket
Right Hand

Standard Panel

i

Tools & Hardware Needed

HTT-L-XXXX HTT-R-XXXX

Transaction Bracket, | Transaction Bracket,
LH (2X) RH (2X)

June 2019

switch 93



Transaction Top Installation

3. Position the transaction top over
the brackets and align the holes in
brackets to pilot holes provided in
underside of transaction top,
(Figure 2).

4. Securely fasten the transaction
top with #10 X 5/8” Pan Head
Screws, (Figure 3).

\ Transaction Top

Transaction Top

#10 X 5/8”
Pan Head Screw

Figure 3

#10 X 5/8”
Pan Head Screw—*

Figure 2

Tools & Hardware Needed

8540-0545

@y

\ (€
Drill Phillips #2 Bit or #10 X 11/16” Oval
Robertson #2 Head Screw (12X)

June 2019

switch 94



Cantilever Support for Standard Panel

There are two types of cantilevers

supports for standard panel: one that Figure 1 ?
joins two surfaces together :
(Intermediate Cantilever Support), and ‘
the other one is for end runs, and it )
can be left and right sided. Cantilever Support gssgﬁ\:er .
for end runs °
LH Shown
1. Distribute all supports °
(Cantilevers, Legs and Brackets) at \ § S °
their proper location.
2. Measure up 28 inches from the .
floor to top edge of cantilever : .
support to locate the opening of Intermediate Cantilever Support = :
S|0t, (Figure 1)_ for adjoining worksurfaces 2 : i
3. Insert the cantilever support by R Sgggoer\ger
angling it at 30 degrees; place the
support hook into the slotted "
frame channel, release it down Figure 2

and the support will be engaged,
(Figure 2). Worksurface

4. Position worksurfaces over
supports.

Note: Make sure worksurfaces
are in a snug position.

5. Drive #10 X 11/16”, Oval Head
Screws through the holes in
cantilever support into the
worksurface, (Figure 3).

Worksurface

#10 X 11/16"
Oval Head Screw

Figure 3

Tools & Hardware Needed

8540-0545
\ @
T
Drill #2 Robertson bit #10 X 11/16” Oval
Head Screw (6X)

June 2019 switch 95



Cantilever Support for Gallery Panel

Cantilever Support for Gallery Panel is
. . Gallery Panel
for end runs (left and right sided) and /

mid supports. /\ Figure 1
1. Distribute all supports /

(Cantilevers, Legs and Brackets) at
their proper location. Cantilever Support for

2. Determine the height of the Gallery Panel, RH Shown
worksurface and mark it with
pencil.

3. Align the top edge of cantilever
support to the marker and flush
with the vertical edge of the
gallery, (Figure 1).

4. Securely fasten the cantilever
support into the gallery panel
with two #10 X 11/16” Oval Head
Screws.

#10X 11/16"
Oval Head Screw

5. Position worksurfaces over
supports.
Note: Make sure worksurfaces Figure 2
are in a snug position. Woiksiitass

6. Drive #10X 11/16”, Oval Head
Screws through the holes in \/
cantilever support into the
worksurface, (Figure 2).

#10X 11/16"
Oval Head Screw

Gallery Panel

Tools & Hardware Needed

8540-0545
@y
Drill #2 Robertson bit #10 X 11/16” OH
Screw

June 2019 switch 96



Corner Bracket for Standard Panel

1. Distribute all supports
(Cantilevers, Legs and Brackets) at
their proper location.

2. Measure up 28 inches from the
floor to top edge of corner
bracket to locate the opening of
slot, (Figure 1).

3. |Insert the corner bracket support
by angling it at 30 degrees; place
the support hook into the slotted
frame channel, release it down
and the support will be engaged,
(Figure 2).

4. Position worksurfaces over
supports.

Note: Make sure worksurfaces
are in a snug position.

5. Drive two #10 X 11/16” Oval Head
Screws through the holes in
corner bracket support into the
worksurface, (Figure 3).

Figure 1

-

Corner Bracket

14

Corner Bracket
Switch 1-inch gap

o~
-

@Tx.K:;;/ﬁ 7&:135_:__:‘_}(%
i~ [T
<,

Corner Bracket

Universal
Corner Bracket

RH Shown
Figure 2
" e
\ //_,jf;:/’;l:::
< } e

Worksurface ‘\

#10 X 11/16” Oval Head

. \ Screw :
Q ’41’;,/—;’;;':
D -,/r;—,;f;é—;_/;;«—
Figure 3
Tools & Hardware Needed
\ "

Drill

#2 Robertson bit

#10 X 11/16" OH
Screw (2X)

June 2019

switch 97



Reinforcement Bar

1. Along the center of the worksurface,
position the reinforcement bar
underneath the worksurface.

2. Attach the reinforcement bar to the
worksurface with #10 X 11/16” Oval

A 4 Worksurface
Head Screws, (Figure 1).
. \ N
4 V| |
| bl g
. i |
T = y £

Reinforcement Ba?\
#10 X 11/16" i

Oval Head Screw

N\

-

* Figure 1

Tools & Hardware Needed

8540-0545
@y
Drill #2 Robertson Long #10 X 11/16” OH
Bit Screw

June 2019 switch 98



Split Surface Support for Standard Panel

Position power module in the split
surface panel mount bracket,
(Figure 1).

Securely fasten the power module
with two #10-40 X1/4” Flat Head
Screws.

Distribute all supports (Cantilevers,
Legs and Brackets) at their proper
location.

Measure up 28 inches from the
floor to top edge of split surface
panel mount bracket to locate the
opening of slot, (Figure 2).

Insert the split surface panel mount
bracket support by angling it at 30
degrees; place the support hook
into the slotted frame channel,
release it down and the support will
be engaged, (Figure 3).

Continued on the next page >>

Figure 1

#4-40 X 1/4"
Flat Head Screw, Black

Power Module

Split Surface
Enel Mount Bracket

Figure 2 Figure 3

B

B Split Surface

f Panel Mount Bracket

g Fen F363 4 |

i P |

41 |

. Split Surface

L Panel Mount Bracket
° N

R
Tools & Hardware Needed
Drill Phillips #2 Bit

June 2019

switch 99



Split Surface Support for Standard Panel

6. Position worksurface over
supports, (Figure 4).
Note: Make sure worksurfaces are o S
level and in a snug position. — g

7. Align the top edge of split surface
panel mount bracket to the edge of
the worksurface, (Figure 5). T

8. Drive six #10 X 1” Oval Head TR
Screws through the holes in Split split Surface fan
Surface Panel Bracket into the
worksurface.

Figure 4

Panel Mount Bracket

Jlg T

9. Position lower worksurface on the
lower edge of split surface panel
mount bracket. Make sure
worksurfaces are level and in a
snug position.

10. Securely attach lower worksurface
to split surface main bracket with
six #10 X 1” Oval Head Screws.

#10X 1"
Oval Head Screw

Ty

#10X 1"
i Oval Head Screw

N

Lower Worksurface

Figure 5

Worksurface Fry

Tools & Hardware Needed

~

8540-0789

Drill #2 Robertson Long
Bit

#10 X 1" OH Screw
(12X)

June 2019

switch 100



Split Surface Support for Gallery Panel

1. Insert power module into the
opening of split surface main
bracket electrics, (Figure 1).

2. Securely fasten the power module
with two #4-40 X 1/4” Flat Head
Screws.

3. Position the split surface panel
mount bracket to gallery panel
and under a secure worksurface.

4. Align the top edge of split surface
panel mount bracket to the edge
of the worksurface.

5. Drive two #10 X 1” Oval Head
Screws through the holes in split
surface main bracket electrics into
the gallery panel, (Figure 2).

Continued on the next page >>

Figure 1

TN Split Surface
S T L S Panel Mount Bracket

#4-40 X 1/4"
Flat Head Screw, Black

Power Module

Worksurface

Split Surface Main——— e 7§

Bracket Electrics

#10 X 1"
Oval Head Screw

Gallery Pane y

/ Figure 2

Tools & Hardware Needed

8540-1201

~

Drill #2 Robertson Long #4-40 X 1/4” Flat
Bit Head Screw (2X)

June 2019

switch 101



Split Surface Support for Gallery Panel

6. Drive six #10 X 1” Oval Head Screws
through the holes in split surface
main bracket electrics into the
worksurface, (Figure 3).

7. Position lower worksurface on the
split surface main bracket.

Note: Make sure worksurfaces are
level and in a snug position.

8. Securely attach lower worksurface
to split surface panel bracket with
six #10 X 1” Oval Head Screws,

(Figure 4).

Split Surface Main
Bracket Electrics =

#10X 1"

Oval Head Screw

Gallery Panel

Worksurface

/
Lower Worksurface

Gallery Panel

/

Worksurface

#10 X 1"
Oval Head Screw

Figure 3

"

Figure 4

Tools & Hardware Needed

~

8540-0789

Drill

#2 Robertson bit

#10 X 1" OH Screw
(12X)

June 2019

switch 102



Flush Plate

1. Center the flush plate underside of
the worksurface where it will attach
with other worksurface. Note: Make
sure worksurfaces are in a snug
position.

2. Attach the flush plate to worksurface
with #10 X 1” Oval Head Screws,
(Figure 1).

H Worksurface

\

Worksurface

#10X 1" \
Oval Head Screw

Figure 1

Tools & Hardware Needed

June 2019

8391-0073 8540-0789
@
Drill #2 Robertson bit Flush Plate #10 X 1" Oval Head
Screw
switch 103



Credenza Worksurface Support

1. Locate the position of the
credenza worksurface support,
(Figure 1).

2. Attach credenza worksurface
support to credenza with four #10
X 11/16” Oval Head Screws,
(Figure 2).

Continued on the next page >>

Credenza g
Worksurface Support Figure 1
Worksurface
Centerline
Worksurface
Credenza
|
Credenza Centerline
#10X 11/16"
Oval Head Screw
.; ‘ Credenza
Il
Credenza Worksurface \
Support
/~ ® %
/ Figure 2

Tools & Hardware Needed

June 2019

8540-0545
Drill #2 Robertson Long Credenza WS #10 X 11/16” OH
Bit Support Screw (4X)
switch 104



Credenza Worksurface Support

3. Position and attach the worksurface
on the credenza worksurface
support with four #10 X 11/16” Oval
Head Screws, (Figure 3). Worksurface
Note: Make sure worksurfaces are
in a snug position.

#10X 11/16"
IH
Byl Headkberew ________________—\\‘ Credenza Worksurface
Support
Credenza u
Y
— N
=3
Figure 3
Tools & Hardware Needed
» 8540-0545
) 1)
\ %
Drill #2 Robertson Bit 90° Angle Drill #10 X 11/16” OH
Screw (4X)

June 2019 switch 105



Ladder Gable Leg to Gallery Panel

Level off gallery panel (use
torpedo level).

Position the ladder gable leg,
flush with the vertical edge of
gallery panel and level it
accordingly. The bottom edge
of the ladder gable leg should
be in line with bottom edge of
gallery panel, (Figure 1).

Drive two #10 X 11/16” Oval
Head Screws through the holes
in ladder gable connector into
the gallery panel.

Place the fast cap to cover the
holes, (Figure 2).

Position the worksurface on the
ladder gable leg.

Note: Make sure worksurfaces
are level and in a snug
position.

Securely fasten ladder gable leg
to the worksurface with four
#10 X 11/16” Oval Head Screws,
(Figure 3).

Place the plastic cover screw
caps.

Figure 1

Ladder Gable

#10X 11/16"
Oval Head Screw

T

#10X 11/16"
Oval Head Screw

Gallery Panel

e

™

Fast Cap

7

Fast Cap

N

Figure 2

Figure 3

Tools & Hardware Needed

8540-0545

Drill #2 Robertson bit Torpedo Level #10 X 11/16” OH
Screw (4X)
—~
Fast Cap (2X) Screw Cap (4X)
June 2019 switch 106



Ladder Gable Leg to Standard Panel

1.

10.

11.

12.

Ensure the gable connector is
secure in the required
configuration: left or right
Position gable connector, flush
with the vertical edge of ladder
gable leg. The upper hole of
gable connector should be on
the center of the pre-drilled
hole, (Figure 1).

Drive #10 X 5/8”, Oval Head
Robertson Screw through
upper hole in gable connector
into the pre-drilled hole.

Drive #10 X 5/8”, Oval Head
Robertson Screw through the
other holes in gable connector
into the ladder gable leg.
Measure from the bottom of
the raceway up to 27 inches to
locate the opening of slot for
the top hook of ladder gable
leg.

Attach ladder gable leg by
angling it at 30 degrees; insert
the top hook into the slot
opening. Lower the ladder
gable leg and place other hooks
into slotted frame channel,
(Figure 2).

Push down the ladder gable leg
and it will be engaged.

Level the ladder gable leg
accordingly.

Adjust the AD lock bracket,
release it down and the
support will be fully engaged.
Securely tighten the screw of
the AD lock bracket.

Securely fasten ladder gable leg
to worksurface with four #10 X
11/16”, Oval Head Screws,
(Figure 3).

Place the plastic screw caps.

#10 X 5/8" Oval Head
Robertson Screw

Figure 1

Pre-drilled Hole

AD Lock Bracket

Gable Connector

Worksurface

#10 X 11/16"
Oval Head Screws

Ladder Gable L
Ladder Gable Leg adder Gable Leg =

Standard Panel

Figure 2 Figure 3

Tools & Hardware Needed

~

Drill #2 Robertson bit

Z

Screw Cap (4X)

8540-0550

G

#10 X 5/8" Oval
Head Screw (3X)

Torpedo Level

8540-0545

e

[
8

#10 X 11/16" OH
Screw (4X)

June 2019

switch 107



Laminate Gable Leg to Gallery Panel

1.

10. Place the plastic cover screw caps.

Ensure the gable connector is
secure in the required
configuration: left or right
Position gallery panel connector,
flush with the vertical edge of
laminate gable leg. The upper
hole of gallery panel connector
should be on the center of the
pre-drilled hole, (Figure 1).

Drive #10 X 11/16” Oval Head
Screw through the upper hole in
gallery panel connector into the
pre-drilled hole.

Drive #10 X 11/16” Oval Head
screws through the other holes in
gable connector into the laminate
gable leg.

Level off gallery panel (use
torpedo level).

Position the laminate gable leg,
flush with the vertical edge of
gallery panel and level it
accordingly. The bottom edge of
the laminate gable leg or gallery
panel connector should be in line
with bottom edge of gallery
panel, (Figure 2).

Drive three #10 X 11/16”, Oval
Head Screws through the holes in
gallery panel connector into the
gallery panel.

Position worksurface on laminate
gable leg.

Note: Make sure worksurfaces
are level and in a snug position.
Securely fasten laminate gable leg
to the worksurface with four #10
X 11/16”, Oval Head Screws,
(Figure 3).

Figurel  y410x11/16"

Oval Head Screw
-

Gallery Panel

Connector Worksurface

#10X 11/16"

Oval Head Screw \
P

#10 X 11/18"
QOval Head Screw

. \7\

Gallery Panel

Ty

Laminate Gable Leg Lehlisaresaa0ISste

Figure 2

Tools & Hardware Needed

Gallery Panel Connector

Laminate Gable

>

Gallery Panel
Figure 3

O Gy

8540-0545

%9

Drill #2 Robertson bit Torpedo Level

#10 X 11/16" OH
Screw (7X)

Screw Cap (3X)

June 2019

switch 108



Laminate Gable Leg to Standard Panel

1.

Ensure the gable mounting
bracket is secure in the required
configuration: left or right
Position gable panel connector,
flush with the vertical edge of
laminate gable panel. The upper
hole of gable panel connector
should be on the center of the
pre-drilled hole, (Figure 1).

Drive #10 X 11/16” Oval Head
Robertson Screw through the
upper hole of in gable connector
into the pre-drilled hole.

Drive #10 X 11/16” Oval Head
Robertson Screws through the
other holes in gable panel
connector into the laminate gable
panel.

Measure from the bottom of the
raceway up to 27 inches to locate
the opening of slot for the top
hook of laminate gable leg.
Attach laminate gable leg by
angling it at 30 degrees; insert the
top hook into the slot opening.
Lower the laminate gable leg and
place other hooks into slotted
frame channel, (Figure 2).

Push down the laminate gable leg
and it will be engaged.

Level the laminate gable leg
accordingly.

Adjust the AD lock bracket,
release it down and the support
will be fully engaged.

10. Securely tighten the screw of the

AD lock bracket.

11. Securely fasten laminate gable leg

to worksurface with four #10 X
11/16”, Oval Head Screws,
(Figure 3).

12. Place the plastic screw caps.

Standard Panel

27 inches

Figure 1

Laminate Gable Panel

Laminate Gable Leg

Figure 2

#10 X 11/16"
Oval Head Screws

Gable Panel Connector
LH Shown

Standard Panel

L

#10X 11/16"
Oval Head Screw

—

Laminate Gable Leg

Figure 3
Tools & Hardware Needed

~

8540-0545

%9

Drill

#2 Robertson bit

#10 X 11/16" OH
Screw (7X)

June 2019

switch 109



Wrap Gable Leg to Gallery Panel

1.

Ensure the gable connector is
secure in the required
configuration: left or right
Position gable connector, flush
with the vertical edge of wrap
gable leg. The upper hole of
gable connector should be on
the center of the pre-drilled
hole, (Figure 1).

Drive #10 X 11/16” Oval Head
Screw through the hole in gable
connector into pre-drilled hole.
Drive #10 X 11/16” Oval Head
screws through the other holes
in gable connector into the wrap
gable leg.

Level off gallery panel (use
torpedo level).

Position the wrap gable leg,
flush with the vertical edge of
gallery panel and level it
accordingly. The bottom edge of
the wrap gable leg or gable
connector should be in line with
bottom edge of gallery panel.
Drive three #10 X 11/16”, Oval
Head Screws through the holes
in gable connector into the
gallery panel, (Figure 2).
Position worksurface on wrap
gable leg.

Note: Make sure worksurfaces
are level and in a snug position.
Securely fasten wrap gable leg
to the worksurface with four
#10 X 11/16”, Oval Head Screws,
(Figure 3).

Figure 1

Gallery Panel _

‘ i)
‘ #10 X 11/16"

\ Oval Head Screw
|

Wrap Gable Leg

#10X 11/16"
Oval Head Screw

Worksurface
<

-
#10Xx11/16"
Oval Head Screw
I Wrap Gable Leg

Figure 2

"

Gallery Panel

Figure 3

Tools & Hardware Needed

10. Place the plastic cover screw 8540-0545
caps. \ g
Gy
U
J '
Drill #2 Robertson bit Torpedo Level #10 X 11/16” OH
Screw (7X)
Screw Cap (4X)
June 2019 switch 110




Wrap Gable Leg to Standard Panel

4.

5.

7.

9.

Ensure the gable connector is
secure in the required
configuration: left or right
Position gable connector, flush
with the vertical edge of wrap
gable leg. The upper hole of end
gable connector should be on
the center of the pre-drilled
hole, (Figure 1).

Drive #10 X 11/16” Oval Head
Screw through the upper hole in
gable connector into pre-drilled
hole.

Drive #10 X 11/16” Oval Head
screws through the other holes
in gable connector into the wrap
gable leg.

Level off standard panel (use
torpedo level).

Measure from the bottom of the
raceway up to 27 inches to
locate the opening of slot for the
top hook of wrap gable leg.
Attach wrap gable leg by angling
it at 30 degrees; insert the top
hook into the slot opening.
Lower the wrap gable leg and
place other hooks into slotted
frame channel, (Figure 2).

Push down the wrap gable leg
and it will be engaged.

Level the wrap gable leg
accordingly.

10. Adjust the AD lock bracket,

release it down and the support
will be fully engaged.

11. Securely tighten the screw of the

AD lock bracket.

12. Securely fasten wrap gable leg to

the worksurface with four #10 X
11/16” Oval Head Screws,
(Figure 3).

13. Place the plastic screw caps.

Standa\rd Panel

— 27 inches— >,

Figure 1

 Wrap Gable Leg

#10 X 11/16”
Oval Head screw

=i

* #10X11/16" /
Oval Head Screw  /

/ =

Wrap Gable Leg

Worksurface

Figure 3

Tools & Hardware Needed

8540-0545

A

~

7

Drill

#2 Robertson bit #10 X 11/16” OH

Screw (7X)

Screw Cap (3X)

June 2019

switch 111



Tower Storage to Worksurface Connection

Ensure the worksurface is level
and secure in the required
configuration.

Position the tower storage and
level it accordingly.

Securely fasten 90-degree
brackets to the tower storage
with #10 X 11/16” Oval Head
Screws.

Drive #10 X 11/16” Oval Head
Screws through the holes in 90-
degree brackets into the
worksurface.

Figure 1

Tower Storage

Worksurface

“\\\<

if

7 il
il /

#10X 11/16"
Oval Head Screw

Figure 2

— >

Worksurface

m

Oval Head Screw

90° Bracket

Tower Storage
N

/ |

Tools & Hardware Needed

~

8540-0545

7
(o

24" D Worksurface — 12X
30" D Worksurface — 18X

Drill

#2 Robertson bit Torpedo Level

#10 X 11/16” OH
Screw

24" D Worksurface — 2X
30" D Worksurface — 3X

90° Bracket

June 2019

switch 112



Pedestal to Gallery Panel - 24D

1. Position and align the outer corner of
the storage support bracket with the

outer corner of the pedestal, (Figure 1).

Note: Ensure the storage support
bracket is secure in the required
configuration: left or right

2. Drive the supplied screws through the
holes in storage support bracket into
the backside of the pedestal.
For Laminate Pedestal:
Use three #10 X 11/16” Round Head
Screws.
For Metal Pedestal:

Use three #8 X 1/2” Self-drilling Screws.

3. Position and align the outer corner of
the storage side filler with the outer
corner of the pedestal, (Figure 2).

4. Drive the supplied screws through the
holes in storage side filler into the
backside of the pedestal, please see
notes on Step 2 for metal and laminate
pedestal.

5. Position and align edge of storage side
filler pedestal with vertical edge of the
gallery panel.

Continued on the next page >>

Figure 1

Storage Support B@Eket

#10 X 11/16” —_—

Round Head Screw

Storage
Side Filler

Figure 2

#10X 11/16”
Round Head Screw

Laminate Pedestal

Tools & Hardware Needed

~

8393-0118 4

Drill

Robertson #2 Bit

Torpedo Level

Pedestal Support
Bracket

8430-0162

8540-0545
€4

For Laminate Pedestal

Storage Side Filler

#10 X 11/16” Round
Head Screw (6X)

June 2019

switch 113



Pedestal to Gallery Panel - 24D

6. Level pedestal and adjust glides if Figure 3
necessary.

7. Drive three #10 X 11/16” Round
Head Screws through the holes in
storage support bracket into the
gallery panel, (Figure 2).

8. Position the worksurface over
pedestal and worksurface supports.
Note: Make sure worksurfaces are
level and in a snug position.

9. Securely fasten pedestal underside
the worksurface. See “Underside
Pedestal Attachment Installation”.

Gallery Panet——__

F‘J \\
/

#10X 11/16”
Round Head Screw

Tools & Hardware Needed

8540-0545
R 3 v
For Laminate Pedestal
Drill Robertson #2 Bit Torpedo Level #10 X 11/16” Round
Head Screw (3X)

June 2019 switch 114



Pedestal to Gallery Panel - 30D

1. Position and align the gallery panel
mount bracket with the outer top
corner of the pedestal, flush with
top and parallel to vertical edge of
pedestal, (Figure 1). iy Bariel
Note: Ensure the gallery panel Mount Bracket—___||
mount brackets are secure in the
required configuration: left or right
2. Drive the supplied screws through
the holes in gallery panel mount _—1r
bracket into the backside of the LaminatesPedestal

pedestal.
For Laminate Pedestal: |
Use two #10 X 11/16” Round Head GalleryPanel ____ <

Mount Bracket

f

Figure 1

#10 X 11/16”
Round Head Screw

Screws.
For Metal Pedestal: #10 X 11/16”
Use #8 X 1/2” (8540-1203) Self- Round Head Screw

drilling Screws.

3. Position and align the other gallery Gallery Panel
panel mount bracket with the outer /
bottom corner of the pedestal, flush
with bottom and parallel to vertical I
edge of pedestal. Figure 2

4. Follow Step 2 above to install the
other panel mount bracket.

5. Position the pedestal and align the
gallery panel mount bracket, flush ]
with the vertical edge of gallery #10X11/16”
panel, (Figure 2). Round Head Screw

6. Level pedestal and adjust glides if
necessary.

7. Drive #10 X 11/16” Round Head
Screws through the holes in panel

mount brackets into the gallery #10 X 11/16”
panel. Round Head Screw /

Continued on the next page >> Tools & Hardware Needed

8393-0178-R01

Drill Robertson #2 Bit Torpedo Level Panel Mount Bracket
(2X)

8540-0545

L

For Laminate Pedestal

#10 X 11/16” Round
Head Screw (8X)

June 2019 switch 115



Pedestal to Gallery Panel - 30D

8. Place the panel mount cover
between gallery panel and pedestal,
(Figure 3).

9. Securely fasten the panel mount
cover with #10 X 5/8”, Round Head
Screw, (Figure 4).

10. Position the worksurface over
pedestal and worksurface supports.
Note: Make sure worksurfaces are
level and in a snug position.

11. Securely fasten pedestal underside
the worksurface. See “Underside
Pedestal Attachment Installation”.

Panel Mount Cover

Panel Mount Cover

2,7

I

§
N\

[

Figure 3

Figure 4

#10 X 5/8”
Round Head Screw

Tools & Hardware Needed

~

8393-0076

8540-0545
@,
@

For Laminate Pedestal

Drill

Robertson #2 Bit

Panel Mount Cover

#10 X 11/16” Round
Head Screw (3X)

June 2019

switch 116



Pedestal to Standard Panel - 24D

1.

Position and align the outer corner
of the storage standard panel
mount bracket with the outer
corner of the pedestal, parallel to
the vertical edge of laminate
pedestal, (Figure 1).

Note: Ensure the storage standard
panel mount bracket is secure in
the required configuration: left or
right

Drive the supplied screws through
the holes in storage standard panel
mount bracket into the backside of
the pedestal.

For Laminate Pedestal:

Use two #10 X 11/16”, Round Head
Screws.

For Metal Pedestal:

Use three #8 X 1/2” (8540-1203)
Self-drilling Screws.

Continued on the next page >>

Storage Standard
Panel Mount B\racket

P -
/
#10X 11/16”

Round Head Screw

For 24” Deep Worksurface

T

Laminat? Pedestal

For 30” Deep Worksurface

N

P

Storage Standard Panel Mount Bracket

Tools & Hardware Needed

~

8540-0545
-
g

For Laminate Pedestal

Drill

Robertson #2 Bit

#10 X 11/16” Round
Head Screw (3X)

June 2019

switch 117



Pedestal to Standard Panel - 24D

3. Measure from the bottom of the Figure 2
raceway up to 27 inches to locate Standard Panel
the opening of slot for the top hook
of storage standard mount bracket.

4. Insert storage standard panel
mount bracket by angling the
pedestal at 30 degrees; place the
support hook into the slotted frame
channel, release it down and the
support will be engaged, (Figure 2).

5. Level the pedestal and adjust glides
if necessary, (Figure 3).

6. Position the worksurface over
pedestal and worksurface supports.
Note: Make sure worksurfaces are
level and in a snug position.

7. Securely fasten pedestal underside
the worksurface. See “Underside
Pedestal Attachment Installation”.

27 inches

Figure 3

Tools & Hardware Needed

Measuring Tape

June 2019 switch 118



Underside Pedestal Attachment

1. Remove drawers from pedestal by
disengaging the safety lock
located at the sides of the drawer,
(Figure 1).

2. Fasten the pedestal by driving
four #10 X 11/16”, Round Head
Screws through the pedestal into
the worksurface, (Figure 2).

Figure 1

Figure 2

Worksurface

I

#10X 11/16"
Round Head Screw

Tools & Hardware Needed

8540-0545

hE

Drill

Robertson #2 Bit

#10 X 11/16” Round
Head Screw (4X)

June 2019

switch 119



Metal Shelf Installation

1. Angle the shelf gable (Left Hand
or Right Hand) at 30 degrees o
angle, (Figure 1). —

2. Place the upper hooks at their
desired location into the slotted
frame channel, release them
down and it will be engaged.

3. Follow Steps 1 and 2 to install the
other shelf gable.

4. Position the steel shelf on the
shelf gables.

8393-0090, Shelf Gable - RH

|

| Standard Panel
8393-0089, Shelf Gable - LH

Continued on the next page >>

Figure 1

—— Standard Panel

Figure 2

Tools & Hardware Needed

8393-0089

Shelf Gable - LH Shelf Gable - RH

1.

June 2019 switch 120



Metal Shelf Installation

5. Securely fasten the steel shelf to
shelf gables with #10-32 X 3/4"L
Socket Head Cap Screw w/ Self -
clinching nut, 10-32 type 1,
(Figure 3).

#10-32 x 3/4"L
Socket Head Cap Screw
w/ Self clinching Nut

Figure 3

Tools & Hardware Needed

8540-0555

#10-32 X 3/4"L SHC
Screw w/ Nut (4X)

June 2019

switch 121



Cubby Storage Installation

1. Angle the cubby storage at 30

degrees angle, (Figure 1). Cubby Storage

2. Place the upper hooks at their
desired location into the slotted
frame channel, release them
down and it will be engaged.

| ___-Standard Panel

Figure 1

Tools & Hardware Needed

June 2019 switch 122



Shared Overhead Cabinet Installation

1. Angle the center mount/
transaction bracket at 30-degree
angle and insert the upper hooks
to the top most slot in the panel
frame.; push the bracket up,
release them down to engage the
lock, (Figure 1). Ensure the center
mount/transaction bracket is
secure in the required
configuration: Center, Left or
Right

2. Position the shared overhead
cabinet. The center holes of the
center mount or transaction
bracket should be on the center
of the pre-drilled holes.

3. Securely fasten the shared
overhead with #10 X 5/8” Pan
Head Screws, (Figure 2).

Center Mount/
Transaction Bracket, LH &%

Figure 2

-

Center Mount/
Transaction Bracket, RH

#10 X 5/8"

Pan Head Screw

Center Mount/
Transaction Bracket, LH

Center Mount/
Transaction Bracket, RH

Figure 1

Drill

Phillips #2 Bit or
Robertson #2

#10 X 5/8” Pan
Head Screw (12X)

Transaction Bracket,
RH (2X)

Transaction Bracket,
RH (2X)

June 2019

switch 123



Flipper Cabinet Installation

1. Position the flipper cabinet sides
and securely fasten it to the flipper
cabinet bottom with #10-32 X 1/2”
Thread Cutting Screw, (Figure 1).

2. Position the flipper cabinet top
and securely fasten it to the flipper
cabinet sides with #10-32 X 1/2”
Thread Cutting Screw, (Figure 2).

Continued on the next page >>

Side, LH

Bottom

1
s

Side, RH

\

#10-32 X 1/2"
Thread Cutting Screw

e

Figure 1

#10-32 X 1/2"
Thread Cutting Screw

Figure 2

Tools & Hardware Needed

8540-1136

NG

Drill

Phillips #2 Bit

#10-

(8X)

32 X 1/2" Screw

June 2019

switch 124



Flipper Cabinet Installation

3. Securely fasten the flipper cabinet
door to flipper cabinet top with
#10-32 X 1/2” Thread Cutting
Screw, (Figure 3).

4. Angle the flipper cabinet at 30-
degree angle.

5. Place the upper hooks at their
desired location into the slotted
frame channel, release them down
and it will be engaged, (Figure 4).

Continued on the next page >>

#10-32 X 1/2"

Thread Cutting ScreW\—\\__ o

Door

Figure 3

Flipper Cabinet

Figure 4

Tools & Hardware Needed

8540-1136

NG

Drill

Phillips #2 Bit

#10-32 X 1/2" Screw

(4X)

June 2019

switch 125



Flipper Cabinet Installation

6. Attach the #10 Dome Screw Caps
provided. Figure 5

#10 Dome Screw Cap

Tools & Hardware Needed

8545-XXXX

v

#10 Dome Screw
Cap

June 2019 switch 126



Open-Hinged Cabinet Installation

1. Angle the gable (Left Hand or Right
Hand) at 30-degree angle.

2. Place the upper hooks at their
desired location into the slotted
frame channel; lower the gable
and place the other hooks then
release them down and it will be
engaged, (Figure 1).

3. Follow Steps 1 and 2 to install the
other gable.

Continued on the next page >>

Gable, Left Hand

Gable, Right Hand

Figure 1

Tools & Hardware Needed

June 2019

switch 127



Open-Hinged Cabinet Installation

4. Position the bottom shelf at
desired position, (Figure 2).

5. Securely fasten the back lip and
bottom shelf into gables with #10-
32 X 3/4” Socket Head Cap Screws,
(Figure 3).

6. Position the top shelf and securely
fasten it to gables with 10-32 X
3/4” Socket Head Cap Screws,
(Figure 4).

Continued on the next page >>

Figure 4

Bottom Shelf

4

#10-32 X 3/4"
Socket Head Cap Screw

#10-32 X 3/4"
Socket Head Cap Screw

Back Lip

Top Shelf

Figure 3

Tools & Hardware Needed

8540-0555

D7

Drill

Hex Bit

#10-32 X 3/4" SH
Cap Screw (8X)

June 2019

switch 128



Open-Hinged Cabinet Installation

7. Position the middle gable at
desired location and securely
fasten it to the top and bottom
shelves with 10-32 X 3/4” Socket
Head Cap Screws, (Figure 5).

8. Position the door at desired
location.

9. Slide the door hinges into the
hinge mounting plate then push
them to snap, (Figure 6).

10. Adjust the gap, depth and height if
necessary.

#10-32 X 3/4" =
Socket Head Cap Screw

Figure 5

Hinge Mounting Plate

Figure 6

Tools & Hardware Needed

8540-0555 8540-1204
7 )
\ %@ w

Drill

Phillips #2 Bit

#10-32 X 3/4" SH
Cap Screw (4X)

#10-32 X 1/4" Screw
(4X)

June 2019

switch 129



Tackboard/Whiteboard Installation

1. Angle the tackboard or whiteboard
at 30-degree angle.

2. Place the upper hooks at their
desired location into the slotted
frame channel; lower the
tackboard/whiteboard and place
the other hooks then release them
down and it will be engaged,
(Figure 1).

Tackboard/Whiteboard

Figure 1

Tools & Hardware Needed

June 2019 switch 130



Accessory Rail Installation

1. Angle the accessory rail at 30-
degree angle.

2. Place the upper hooks at their
desired location into the slotted
frame channel; lower the accessory
rail and place the other hooks then
release them down and it will be
engaged, (Figure 1).

Accessory Rail

Figure 1

Accessory Rail

Tools & Hardware Needed

June 2019

switch 131



Accessories Installation

1. Insert the hooks of the paper tray
into the accessory bar channel,
push it down and the paper tray
will be engaged, (Figures 1 and 2).

2. Proceed in the same way to install
the pen holder.

3. Forthe paper sorter, angle it at 30
degrees and insert the upper
hooks into the accessory bar
channel. Release it down and the
paper sorter will be engaged.

Figure 1

Paper Tray

&y

Figure 2

Paper Sorter Pen Holder
Tools & Hardware Needed

June 2019 switch 132



CPU Holder Installation

1. Attach part (A) to the underside of
the worksurface with six #10 X
11/16” Oval Head Screws, (Figure 1).

2. Engage the slots on part (B) to
protruding supports on part (A),
(Figure 2).

3. Position CPU holder into place,
(Figure 3).

#10X11/16"

. Oval Head Scre
Continued on the next page >> ¥ W

Figure 2

Tools & Hardware Needed

8540-0545
\ ﬁ% / ~
@
Drill Robertson #2 Bit #10 X 11/16” Round
Head Screw (6X)

June 2019 switch 133



CPU Holder Installation

4. Slide and engage part (C) to part
(A), (Figure 4).

5. Figure 5 shows the assembled CPU
holder.

Figure 4

Figure5 |

Tools & Hardware Needed

June 2019 switch 134



Electrical Components and Specifications

COMVENIENCE CIRCUIT SIMPLEX,
— ISOLATED CIRCUIT SIMPLEX {
1 ﬂ. -;-'r'
r-,’: &
I'a-a.fh‘:;:;f
oy [
. = —
-'._.._-J | | ,%'C-:: — —
“ .-:. .":"{-..-' " i 'II e
| S h = T A
Cocel \.l_. o r o ] o ey B Y,
2 Endiie SN S -
"\.il'a_o-' o e "\-\...t o "
[ '|-\.""'-_____ '-»._ i \"'1 o~ A -
'*-\.T o it | | = | t
i » pl? POWER MODULE
o j2
e ’
e | ISOLATED CIRCUIT SIMPLEX

CONVENIEMCE CIRCUIT SIMPLEX

Cable Cross Section 8 Wire 2+2

CIRCUIT 1 &2 NEUTRAL
CIRCUIT 1 HOT (BLACE)

CIRCUIT 1 & 2 GROUND .

(GREEN) CIRCUIT 3 HOT (BLUE)

CIRCUIT 3 & 4 NEUTRAL
(WHITEBLACK)
EnI

EMI SHIELD

CIRCUIT 2 HOT (RED) CIRCUIT 3 & 4 GROUND

{GREEN / YELLOW)
CIRCLUIT 4 HOT (PIMNE)

NOTE:

= Al wires are 12 AWG in oval flex.

June 2019

switch 135



Harness Calculation

ELECTRICAL CABLE LENGTH CALCULATION
ON A STRAIGHT PANEL CONNECTION

Al Al

| Lul-'e:

M1 Mz

m 4"
i MM g,

BASE BOX ! L gase 5

e

ELECTRICAL CABLE LENGTH CALCULATION
OM A& CORNER, T- OR X- PAMEL CONNECTION

2" OR 1" GAP
Al A
- LM‘F -
M1 M2
Alm 4"
BASE BOX o - LB‘,-_'.'SE= M112‘M2 + 3" -g"

June 2019

switch 136



Desktop Power Installation

Notes:

e  Only applicable with 1-inch gap
surface.

e  For furniture power distribution
units, model no. TV2803-TC i
(Electrical rating: AC 12-V/6-Hz, 15 A)

CAUTION: To prevent the risk of fire and
electric shock, please be sure to read all
instructions before installing or using
the unit.

IMPORTANT SAFETY INSTRUCTIONS

WARNING - To reduce the risk of fire,
electric shock or injury to persons:

e Use the unit for indoor applications
only.

e Do not use the extension cord(s) to
connect the unit to power.

e Do not use receptacle for connecting
devices over 15A.

e Do not try to open the unit for any
reason.

Tz

I_Q!d'

=5

Bracket with clamp

— )

Figure 2
MOUNTING INSTRUCTIONS

1. Attach the brackets to the power
strip using included M3 X 8 Flat Head
Machine Screws, (Figure 1).

2. Open the clamps by turning the

thumb screws counter-clockwise. M3 X 8 Flat Head
. Machine Screw
3. Place the clamps on the edge of Figure 1

desired mounting surface. Turn the
thumb screws clockwise and check if Tools & Hardware Needed
the power unit is securely installed to
the mounting surface. Do not
overtighten the thumb screws.

4. Plug the power cord to the nearest \ { @
wall outlet. Make sure the wall
outlet is properly grounded.

Drill Phillips #2 Bit M3 X 8 Machine Bracket with clamp
Screw (2X)

Power Strip

June 2019 switch 137



Power Module, Connector Harness & Communication Kit Installation

CAUTION: To prevent the risk of fire
and electric shock, please be sure to
read all instructions before installing or
using the unit.

IMPORTANT SAFETY INSTRUCTIONS

WARNING - To reduce the risk of fire,
electric shock or injury to persons:

2.

Consult local codes for compliance.
Use the unit for indoor applications
only.

Do not use the extension cord(s) to
connect the unit to power.

Sort all connector harness, power
modules and communication kits.
Note: Communication wires are
not included.

Lay them beside the panels that are
to be electrified, (Figure 1).

Continued on the next page >>

Figure 1

L

Power Module

Starter Harness

Gos Connector
Harness

Communication Kit

Tools & Hardware Needed

June 2019

switch 138



Power Module, Connector Harness & Communication Kit Installation

3. Slide the power module right or left
into the electrical box holder,
(Figure 2).

4. Connect the correct electrical
harnesses and lay the
communication wires, (Figure 3).
Note: Communication wires are
not included.

Continued on the next page >>

Electrical
Box Holder Figure 2

Power Module

Power Module

Power Module

Communication Wires

Connector Harness

Communication Wires

Starter Harness

Figure 3

Tools & Hardware Needed

June 2019 switch 139



Power Module, Connector Harness & Communication Kit Installation

5. Pop-out the outlet cover and
communication kit cover of the
raceway cover that are to be
electrified, (Figure 4).

6. Insert the plastic gasket on top
edge of the outlet cover opening,
(Figure 5).

7. Place the raceway cover, (Figure 6).
See “Raceway Cover Installation”.

Figure 4

Communication Kit
Cover

Outlet Cover

8. Connect the communication wires Raceway Cover
to the communication kit.

9. Insert the communication kit into
the communication kit opening,

(Figure 7). Figure 5

Plastic Gasket

Raceway Cover

Figure 6 Figure 7

Tools & Hardware Needed

June 2019 switch 140



Electrical Box Holder Installation

1. Center the electrical box standoff
holder at the bottom of the panel,
(Figure 1).

Drive three #8 X 1- 1/2” Washer
Head Screws through the holes in
electrical box standoff into the
panel.

Attach the electrical box holder
with two #8 X 1/2” Flat Head
Screws, (Figure 2).

Electrical Box

Standoff

#8X1-1/2"

i
Electrical Box i i
Standoff A i .

b

Washer Head Screw

Figure 1

June 2019

Electrical
Box Holder
Electrical "‘]I..‘*—'
Box Holde L SE
|
N
i ]
H8 X 1/2" | i
Flat Head Screw
Figure 2
Tools & Hardware Needed
8683-0038 8540-1185
Drill Phillips #2 Bit Electrical Box #8 X 1-1/2" Washer
Standoff Head Screw (3X)
8410-0004 8540-0600
% v'(((f/
Electrical Box Holder | #38X 1/2" Flat Head
Screw (2X)
switch 141



2- Way Power Pole Installation

1. Inspect ceiling condition before
beginning installation. If ceiling
material is acoustical tile, remove
tile above power pole before
attaching it to the panel.

2. Position the 2-way power pole
bracket on top corner of the
panels, (Figure 1).

3. Drive four #8 X 1-1/4”, Flat Head
Screws through the holes in 2-way
power pole bracket into the panels.

4. Disengage the power pole and
position the half of the power pole
by inserting the power pole holder
bracket into the power pole.

5. Securely fasten the power pole into
the power pole bracket with four
#8-32 X 1/4” Screws, (Figure 2).

Continued on the next page >>

&

Power Pole

#8 X 1-1/4”
Flat Head Screw

#8-32 X 1/4" Screw

Power Pole
Holder Bracket

I

2- Way Power Pole
' Bracket

Figure 1

Power Pole

Figure 2

Tools & Hardware Needed

8393-0201

8540-1008

Drill

Phillips #2 Bit

2- Way Power Pole
Bracket

#38 X 1-1/4”, Flat
Head Screw (4X)

8540-0611

®

#8-32 X 1/4” Screw
(4X)

June 2019

switch 142



2- Way Power Pole Installation

6. Laythe cables in the power pole.
Engage the two halves of the
power pole together and securely
fasten them with #6-32 X 1/4” Zinc
Round Head Phillips Drive Type F,
(Figures 3 & 4).

7. Slip the power pole ceiling collars
and securely fasten them with #8 X
3/8” Pan Type B, (Figures 5 & 6).

Power Pole
Ceiling Collar

b Figure 3

j

Figure 5

Figure 4

]

.~

#6-32 X 1/4" Zinc Round Head
Phillips Drive Type F

-

)
Q
Power Pole -
Ceiling Collar @
#8 X 3/8" Pan N -
Type B‘.“ Ssi
| U
/' o \\\

Figure 6

Tools & Hardware Needed

S

8540-1211

©

8393-0055

Drill Phillips #2 Bit #6-32 X 1/4" RH Power Pole Ceiling
Phillips Drive Type F | Collar (2X)
8540-1167
#8-3/8" Pan Type B
(2X)
June 2019 switch 143



3- Way Power Pole Installation

1. Inspect ceiling condition before i
beginning installation. If ceiling RULS
material is acoustical tile, remove
tile above power pole before
attaching it to the panel.

2. Position the 3-way power pole
bracket on top of the panels at the
intersection, (Figure 1).

3. Drive six #8 X 1-1/4” Flat Head
Screws through the holes in 3-way
power pole bracket into the panels.

4. Disengage the power pole and
position the half of the power pole
by inserting the power pole holder
bracket into the power pole.

5. Securely fasten the power pole into
the power pole bracket with four
#8-32 X 1/4” Screws, (Figure 2).

Continued on the next page >>

#8 X 1-1/4”
Flat Head Screw

Figure 1

Figure 2

Power Pole
Holder Bracket

!

3-Way Power Pole

Power Pole

Tools & Hardware Needed

S

8393-0196 8540-1008

Drill Phillips #2 Bit 3- Way Power Pole #8 X 1-1/4”, Flat
Bracket Head Screw (6X)
8540-0611
#8-32 X 1/4” Screws
(4X)
June 2019 switch 144



3- Way Power Pole Installation

6. Laythe cables in the power pole.
Engage the two halves of the
power pole together and securely
fasten them with #6-32 X 1/4” Zinc
Round Head Phillips Drive Type F,
(Figures 3 & 4).

7. Slip the power pole ceiling collars
and securely fasten them with #8 X
3/8” Pan Type B, (Figures 5 & 6).

Power Pole

Ceiling Collar p~

=N

/
<

Figure 3

E

Power Pole
Ceiling Collar

Figure 5

Phillips Drive Type F

A

A=

#6-32 X 1/4" Zinc Round Head

Figure 4

#8 X 3/8" Pan
Type B

7,

Figure 6

Tools & Hardware Needed

S

8540-1211

©

8393-0055

Drill Phillips #2 Bit #6-32 X 1/4" RH Power Pole Ceiling
Phillips Drive Type F | Collar (2X)
8540-1167
#8-3/8" Pan Type B
(2X)
June 2019 switch 145



4- Way Power Pole Installation

1. Inspect ceiling condition before
beginning installation. If ceiling
material is acoustical tile, remove
tile above power pole before
attaching it to the panel.

2. Position the 4-way, power pole
bracket on top of the panels at the
intersection, (Figure 1).

3. Drive eight #8 X 1-1/4”, Flat Head
Screws through the holes in 4-way
power pole bracket into the panels.

4. Disengage the power pole and
position the half of the power pole
by inserting the power pole holder
bracket into the power pole.

5. Securely fasten the power pole into
the power pole bracket with four
#8-32 X 1/4” Screws, (Figure 2).

Continued on the next page >>

Power Pole
Holder Bracket

|

Flat Head Screw :

#8 X 1-1/4" /{ l
i

4-Way Power Pole
Bracket Figure 1

Tools & Hardware Needed

8393-0198 8540-1008
Drill Phillips #2 Bit 4- Way Power Pole #8 X 1-1/4”, Flat
Bracket Head Screw (8X)
8540-0611
#8-32 X 1/4” Screw
(4X)
June 2019 switch 146



4- Way Power Pole Installation

6. Laythe cables in the power pole.
Engage the two halves of the
power pole together and securely
fasten them with #6-32 X 1/4” Zinc
Round Head Phillips Drive Type F,
(Figures 3 & 4).

7. Slip the power pole ceiling collars
and securely fasten them with #8 X
3/8” Pan Type B, (Figures 5 & 6).

Power Pole
Ceiling Collar

Figure 3

Power Pole
Ceiling Collar

=

#8 X 3/8" Pan
Type B

Figure 4

#6-32 X 1/4" Zinc Round Head
Phillips Drive Type F

Figure 5 Figure 6
Tools & Hardware Needed
8540-1211 8393-0055
Drill Phillips #2 Bit #6-32 X 1/4" RH Power Pole Ceiling

Phillips Drive Type F | Collar (2X)

8540-0611

®

#8-32 X 1/4” Screw
Pan Type B (4X)

June 2019

switch 147



Gallery Panel, Power Pole Installation

Inspect ceiling condition before
beginning installation. If ceiling
material is acoustical tile, remove
tile above power pole before
attaching it to the panel.
Disengage the power pole and
position the half of power with
holes at the edge of the gallery
panel.

Align the holes of power pole into
the pre-drilled holes of gallery
panel, (Figure 1).

Drive seven #8 X 1-1/4” Flat Head
Screws through the holes in power
pole into the pre-drilled holes of
gallery panel.

Continued on the next page >>

Power Pole

Extension \

Power Pole

T

T

\'

BN

Power Pole

#8 X 1-1/4” o
Flat Head Screw .~

4

Figure 1

Tools & Hardware Needed

S

8540-1008

Drill

Phillips #2 Bit

#38 X 1-1/4”, Flat
Head Screw (7X)

June 2019

switch 148



Gallery Panel, Power Pole Installation

Follow Steps 5,6,7 & 8 for ceiling
heights above 9’-6” or otherwise
proceed to Step 9.

5. |Insert the splicing bracket into the
power pole, (Figure 2).

6. Securely fasten splicing bracket into
the power pole with four #8-32 X
1/4" Screw Pan Type B, (Figure 3).

7. Insert splicing bracket with power
pole into the power pole extension,
(Figure 4).

8. Securely fasten the power pole
extension into the splicing bracket
with four #8-32 X 1/4" Screw Pan
Type B, (Figure 5).

Continued on the next page >>

Figure 2
Splicing Bracket

#8-32 X 1/4”
Screw Pan Type B

Power Pole

I}ver Pole Extension

‘ Splicing Bracket

W/ Power Pole

Figure 4

‘t\\_;‘\\
8] \\;\

Power Pole

Extension

#8-32 X 1/4”
Screw Pan Type B

Figure 3

Splicing Bracket

__Power Pole

Figure 5

Tools & Hardware Needed

S

8393-0185

8540-0611

©

Drill Phillips #2 Bit

Splicing Bracket

#8-32 X 1/4” Screw
Pan Type B (8X)

June 2019

switch 149



Gallery Panel, Power Pole Installation

9. Lay the cables in the power pole.
Engage the two halves of the

power pole together and securely

fasten them with #6-32 X 1/4” Zinc

Round Head Phillips Drive Type F,
(Figures 6 & 7).

10. Slip the power pole ceiling collars

and securely fasten them with #8 X

3/8” Pan Type B, (Figures 8 & 9).

Power Pole

Extension \

Power Pol\
\

Power Pole
Ceiling Collar

Power Pole
Ceiling Collar

Figure 8

Figure 6
N - e
Power Pole ==
Extension T—=—__||| "~

~—_ Hr-

~

#8 X 3/8" Pan
Type B

. A:-sz X 1/4" RH

Phillips Drive Type F
___-Philiip P

Figure 7
#6-32 X 1/4" RH
Phillips Drive Type F

¢

«;

Figure 9

Tools & Hardware Needed

S

8540-1211

©

8393-0055

Drill

Phillips #2 Bit

#6-32 X 1/4" RH
Phillips Drive Type F

Power Pole Ceiling
Collar (2X)

8540-1167

@©

#8-3/8"
(2X)

Pan Type B

June 2019

switch 150



Standard Panel, End Run Power Pole Installation

1. Inspect ceiling condition before
beginning installation. If ceiling
material is acoustical tile,
remove tile above power pole
before attaching it to the panel.

2. Disengage the power pole and
position the half of power pole
with holes at the end of panel.

3. Align holes of power pole to the
holes at the side of panel,
(Figure 1).

4. Drive seven #8 X 1-1/4”, Flat
Head Screws through the holes
in power pole into the panel.

Continued on the next page >>

i

<3

Power Pole

Extension \

\—

Power Pole
Power Pole
[ #3 X 1-1/4” -
%{ Flat Head Screw
Figure 1
Tools & Hardware Needed
8540-1008
Drill Phillips #2 Bit #8 X 1-1/4”, Flat

Head Screw (7X)

June 2019

switch 151



Standard Panel, Power Pole Installation

Follow Steps 5,6,7 & 8 for ceiling
heights above 9’-6” or otherwise
proceed to Step 9.

5. |Insert the splicing bracket into the
power pole, (Figure 2).

6. Securely fasten splicing bracket into
the power pole with four #8-32 X
1/4" Screw Pan Type B, (Figure 3).

7. Insert splicing bracket with power
pole into the power pole extension,
(Figure 4).

8. Securely fasten the power pole
extension into the splicing bracket
with four #8-32 X 1/4" Screw Pan
Type B, (Figure 5).

Continued on the next page >>

Figure 2

Splicing Bracket

#8-32 X 1/4”

Figure 3

‘5\{\“\\ Splicing Bracket

Q

Screw Pan Type B
\o Hr
-
™ - __Power Pole
e e /_/
2P o
P g
Power Pole
Power Pole Extension Power Pole
’/ Extension ~
#8-32 X 1/4”
‘ Screw Pan Type B
Splicing Bracket
W Power Pole
Figure 4 Figure 5
Tools & Hardware Needed
8393-0185 8540-0611

S

©

Drill

Phillips #2 Bit

Splicing Bracket

#8-32 X 1/4” Screw
Pan Type B (8X)

June 2019

switch 152



Standard Panel, Power Pole Installation

9. Lay the cables in the power pole.
Engage the two halves of the

power pole together and securely

fasten them with #6-32 X 1/4” Zinc

Round Head Phillips Drive Type F,
(Figures 6 & 7).

10. Slip the power pole ceiling collars

and securely fasten them with #8 X

3/8” Pan Type B, (Figures 8 & 9).

Power Pole
Extension — ———__|

Power PoIP\

Power Pole
Ceiling Collar

Figure 6 Figure 7
N #6-32 X 1/4" RH
. Tl - \/Phillips Drive Type F
Power Pole -l
Extension ~———__[|Il "~

Power Pole
Ceiling Collar

Figure 8

/

- /#6-32 X 1/4" RH

L Phillips Drive Type F
- p yp

S

#8 X 3/8" Pan )
Type B'\. {% - -
| 1.8 L] -
“.\ //'/:/,..-’ \\\
b
S
Figure 9

Tools & Hardware Needed

S

8540-1211

©

8393-0055

Drill

Phillips #2 Bit

#6-32 X 1/4" RH
Phillips Drive Type F

Power Pole Ceiling
Collar (2X)

8540-1167

@©

#8-3/8" Pan Type B
(2X)

June 2019

switch 153








